ENGLISH COMMUNICATIVE - Code No. 101
SAMPLE QUESTION PAPER
CLASS-X-(2025-26)
Time allowed: 3 Hrs. Maximum Marks: 80

General Instructions
Read the following instructions carefully and follow them:

I.  This question paper has 12 questions. All questions are compulsory.
ii. This question paper contains three sections:
Section A: Reading Skills,
Section B: Writing Skills
Section C: Grammar
Section D: Literature.
lii. Attempt all questions based on specific instructions for each part. Write the correct question
number and part thereof in your answer sheet.
Iv. Separate instructions are given with each question/part, wherever necessary.
v. Adhere to the prescribed word limit while answering the questions.

SECTION A: READING SKILLS (22 marks)
1. Read the following passage carefully: 12

1 Remote, icy and mostly pristine, Greenland plays an outsized role in the daily weather
experienced by billions of people and in the climate changes taking shape all over the
planet. Think of Greenland as an open refrigerator door or thermostat for a warming world,
and it’s in a region that is warming four times faster than the rest of the globe, said New York
University climate scientist David Holland.

2 Locked inside are valuable rare earth minerals needed for telecommunications, as well as
uranium, billions of untapped barrels of oil and a vast supply of natural gas that used to be
inaccessible but is becoming less so. Many of the same minerals are currently being
supplied mostly by an Asian country, so other countries are interested. But more than the oil,
gas or minerals, there’s ice — a “ridiculous” amount, said climate scientist Eric Rignot. If that
ice melts, it would reshape coastlines across the globe and potentially shift weather patterns
in a dramatic manner. Greenland holds enough ice that if it all melts, the world’s seas would
rise by 24 feet.

Since 1992, Greenland has lost about 182 billion tons of ice each year, with losses hitting
489 billion tons a year in 2019. Greenland will be ‘a key focus point’ through the 21st
century because of the effect its melting ice sheet will have on sea levels, said Mark
Serreze, director of the National Snow and Ice Data Center. “It will likely become a bigger
contributor in the future.” That impact is perhaps unstoppable. Greenland is also changing
colour as it melts from the white of ice, which reflects sunlight, heat and energy away from
the planet, to the blue and green of the ocean and land, which absorb much more energy.
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Greenland also serves as the engine and on/off switch for a key ocean current that
influences Earth’s climate in many ways, including hurricane and winter storm activity. It's
called the Atlantic Meridional Overturning Circulation, or AMOC, and it's slowing down
because more fresh water is being dumped into the ocean by melting ice in Greenland. A
shutdown of the AMOC conveyor belt is a much-feared climate tipping point that could
plunge Europe and parts of North America into prolonged freezes. “If this global current
system were to slow substantially or even collapse altogether — as we know it has done in
the past — normal temperature and precipitation patterns around the globe would change
drastically,” said climate scientist Jennifer Francis of the Woodwell Climate Research
Center. “Agriculture would be derailed, ecosystems would crash, and ‘normal’ weather would
be a thing of the past.”

None of that takes into consideration the unique look of the ice-covered island that has some
of the Earth’s oldest rocks. “I see it as insanely beautiful. It's eye-watering to be there,” said
Holland, who has conducted research on the ice more than 30 times since 2007. “Pieces of
ice the size of the Empire State Building are just crumbling off cliffs and crashing into the
ocean. And also, the beautiful wildlife, all the seals and the Kkiller whales. It's just
breathtaking.”

515 words / Adapted from The Hindu (Environment -January 08, 2025 post)

Answer the following questions, based on the passage above.

Why is Greenland referred to as ‘an open refrigerator door or thermostat for a 1
warming world’? (Paragraph 1)

a) It controls global temperatures directly like a thermostat.

b) It is warming at the same rate as the rest of the globe.

c) It plays a critical role in influencing global weather and climate patterns.

d) It experiences warming but has limited influence on global weather patterns.

Complete the following with the correct option from those given in the brackets. 1

In the line 'Greenland plays an outsized role...", the word 'outsized' indicates
(an unusually large impact or importance / a role that exceeds expectations or

norms / a disproportionate influence compared to its size). (Paragraph 1)

Il Give two reasons why ‘other countries’ might be interested in Greenland’s rare 2
earth minerals and resources. Answer in 30-40 words. (Paragraph 2)

IV What does Eric Rignot mean by ‘ridiculous’ in the phrase ‘a ridiculous amount’? 1

(Paragraph 2)
Select the correct option to complete the answer.

It means that the ice is )

a) unnecessary and excessive

b) vast and overwhelming in quantity.
c) beyond what scientists can measure.
d) challenging to fully comprehend.
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V Complete the following with the appropriate option. 1

The phrase 'Locked inside' brings up the imagery of a . (Paragraph 2)
a) vault, emphasising security and value

b) box, symbolising concealment and mystery.

c) room, highlighting stored abundance.

d) warehouse, showcasing accessibility and volume.

VI. What would be the most suitable title for paragraph 3? 1

a) Greenland’s Changing Climate and Ecosystem

b) The Rising Sea Levels and Climate Impact of Greenland

c) Greenland’s Ice Melt: A Threat to Global Energy Balance

d) Greenland’s Melting Ice: A Growing Concern for the 21st Century

VII. Which phrase from paragraph 4 bears evidence to the fact that Greenland plays a 1
critical role in controlling the AMOC?

VIII Fill in the blank by choosing the appropriate option from those given in the 2
brackets.
Paragraph 4 includes a (viewpoint / warning / speculation) by Jennifer
Francis.
IX  Why does Holland describe Greenland as ‘eye-watering’? Answer in 30-40 words. 2
(Paragraph 5)
2. Read the following. 10

3 e 26727

Sep Sep

Feb Feb
FAIRS FESTIVALS
ABHANERI

NAGAUR FAIR -
2025 FESTIVAL - 2025

o ] ‘Abhaneri festival’ is named after the
TI'!e -Nagal-_lr Fair is the second biggest village Abhaner in the Dausa district
fair in India. Held every year between which is around go km from Jalpur on
the months of January and February, the Agra road. This two-day festival
it is popularly known as the Cattle Fair e gained BT =TT popularity
of Magaur as th|'§ is where OGS amongst the tourists around the
gather to trade animals. Approximately the globe. It commences with wvarious
70,000 bullocks, camels and horses are Rajasthani & local folk performances
traded every year at this fair. The like Kachhi Ghori, Kalbeliya, Ghoomar,
animals are lavishly decorated and even and Bhawai. The village of Abhaneri
their owners dress up with colourful was originally named Abha Magri,
turbans . Besides cattle, sheep, horses meaning "city of brightness'. The place
and even spices are traded. Other is popular for the Chand Baori-step
attractions include the Mirchi Bazaar well, one of the largest step wells built
(largest red chilli market of India). owver a thousand years ago.

Source: www.tourism.rajasthan.gov.in / 190 words approx. / MCB theme : Travel & Tourism
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Answer the following questions, based on your reading of the above information.

I. Why is the tag 'A Hub for Livestock Trading' suitable for the Nagaur fair instead of 2
‘Colourful Celebrations’?

Il. Complete the following with the correct option. 1

The Nagaur Fairis held .
a) quarterly

b) once in two years

c) annually

d) twice in a year

lll. State which of the following is True. 1

a) Chand Baori is referred to as ‘Abha Nagri’.
b) Chand Baori is a recent construction.
¢) Chand Baori is an ancient stepwell.

V. What does the writer wish to convey by stating that the Abhaneri Festival ‘has 1
gained immense popularity among tourists’?

V. What might be the most likely reason for the lavish decorations of animals at the 1
Nagaur Fair?

a) To celebrate the cultural heritage of Rajasthan.

b) To attract buyers and showcase the animals for trading.
c) To compete for the best-decorated animal.

d) To honour the animals as part of a religious ritual.

VI. Fillin the blank by choosing the correct option from those given in the brackets. 1

The Mirchi Bazaar is most likely an attraction at the Nagaur Fair because it
provides a platform for (tourists and organisers / farmers and traders) to
display an essential spice.

VII. If the Nagaur Fair highlights trading as its primary focus, what does the Abhaneri 1
Festival most likely focus on?

a) Promoting local agriculture

b) Encouraging community interaction
c) Celebrating historical heritage

d) Showcasing regional culture

VIII  What might be the most likely reason why the Nagaur Fair spans across four days 2
while the Abhaneri Festival ends in two days?
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SECTION B
WRITING SKILLS (22 marks)

All the names and addresses used in the questions are fictitious. Resemblance, if any, is purey
coincidental.

3.

Write an application, in not more than 50 words, requesting permission to use the 1x3=3
school transport to attend a tree plantation volunteering event. You are Lakshit
Pandey, Class X-C, Vice-President, Ecology Club.

Write a factual description of your favourite gadget in not more than 100 words, 1x4=4
highlighting its key features and functionalities.

Attempt any one of the two, (A) or (B), in 120 words 1X7=7

The digital divide refers to the gap between those who have access to technology, such as
the internet and digital devices, and those who do not. This disparity has significantly
impacted education, especially for students from marginalised segments, by limiting their
ability to access online resources and virtual classes.
As Sakshi Tripathi, 120 Kailash Nagar, Batanpur, write a letter to the editor of a national
daily highlighting the issue, its effects on students and teachers, and suggesting practical
measures to bridge this gap.
Use your own ideas along with those from MCB Unit 2: Education, to write this letter.

OR

India is home to a rich geological heritage, with unique landforms and rock formations like
the Lonar Crater, Bhimbetka Rock Shelters etc. that hold immense scientific, educational,
and cultural value. However, these sites often face neglect, vandalism, and lack of proper
conservation efforts.

As Tanush of 63, Lajpat Nagar, Agra, write a letter to the editor of a national daily
highlighting the importance of preserving India's geological heritage, the challenges it faces,
and suggesting measures to protect and promote these natural treasures.

Use your own ideas along with those from MCB Unit 4 E: Environment — Geological
Heritage, to write this letter.

Attempt any one of the two, (A) or (B), in 150 words 1x8=8

Imagine you are Vitthal K of class X. Write an article for your school magazine on
the topic ‘Achieving Holistic Wellness: The Key to a Happy Life,” emphasising the
role of physical health, mental well-being, and positive lifestyle habits and natural
remedies. Explain how these factors contribute to a balanced and fulfilling life, and
suggest practical steps for incorporating them into daily routines.

You may use your own ideas along with the given cues and your reading of MCB
Unit 1: Health and Wellness

holistic wellness - key aspects - simple habits can improve overall wellness -
actionable ways needed to integrate wellness into everyday routines
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OR

B You are Kadambari Rao, class X. Write an article on the topic ‘Space Travel:
Accessible Tourism or a Risky Adventure?’ highlighting the potential benefits and
challenges of making space travel available to the general public. Discuss whether
space tourism should be pursued considering its environmental impact, safety
concerns, and accessibility. Conclude with your opinion on whether it is a step
forward or a risk not worth taking.

You may use your own ideas along with the given cues and your reading of the
MCB Unit 3: Science.

Potential Benefits - Challenges and Concerns: Environmental impact of frequent
rocket launches (carbon emissions, pollution); accessibility opportunities creating
inequalities; safety risks - Key Considerations: Should resources be focused on
improving conditions on Earth instead?

SECTION C
GRAMMAR (10 marks)
7. Fillin the blanks (i) — (iii) with the appropriate option from those in the 3x1=3
brackets.

Therapeutic gardens are a public health measure and key to Singapore’s aim of (i)
(become/ becoming/ will becoming) one of the world’s top wellness destinations. In a tourism
sense, wellness often (ii) (had referred / refers / referring) merely to spa treatments but
Singapore’s approach is more scientific. Singapore now (iii) (have view/ has viewed /
views) Therapeutic gardens as a forward-thinking tourism strategy.

8. Inthe following paragraph, one word has been omitted in each line. In your 4x1=4
answer sheets, remember to write the missing word along with the word
that comes before and after it, as shown below. The first one has been
done as an example

S No. Text Word | Omission | Word
Before After
e.g. | The environment is most precious resource. IS our most

[ We reduce waste, conserve energy, and plant

i more trees to combat pollution. This planet is only

iii | home we have. Each action, big or small, make a

iv | significant difference. We act now to safeguard

the environment and prevent it from further harm.
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9. Do as directed. 1+2=3

| Rearrange the following jumbled words/phrases in the given dialogue to 1
create a meaningful sentence.
RAVI: Priya! Tell me about Orissa. I've always been curious about your state's
culture and traditions.
PRIYA: (i) for our / in the eastern / is a beautiful / state / temple architecture/ rich
heritage, part of India / and we are known / vibrant festivals / Orissa / and
exquisite

[I. Report the conversation given below by filling in the blanks to complete the 2
following paragraph.

Aanya: Hey, Rohan! Did you hear about the new discovery in space
announcement yesterday?

Rohan: | heard about finding a planet with water vapour in its atmosphere!
Anya asked Rohan (i) . Rohan exclaimed (ii) in its

atmosphere. Then, Aanya added that the new planet was in the ‘habitable zone’
with life-supporting conditions.

SECTION D: LITERATURE TEXTBOOK (26 MARKS)

10. Read the given extract and answer the questions briefly, for any two extracts, 2X4=8
of the three, given.

A. "l thought you picked fruit for a living," | said.
"We do many things, sir," Nicola answered seriously. He glanced at us hopefully. "Often we

show visitors through the town ... to Juliet's tomb ... and other places of interest."
Alright, "I smiled. "You take us along."
As we made the rounds, my interest was again provoked by their remarkable demeanour. They
were childish enough, and in many ways quite artless. Jacopo was as lively as a squirrel.
Nicola's smile was steady and engaging. Yet in both these boyish faces there was a
seriousness which was far beyond their years.
(Two Gentlemen of Verona)

|  What might have been the most likely tone of the statement in ‘I thought you picked 1

fruit for a living...?

Il Why did Nicola glance hopefully at the narrator? 1
[l What does the boys' willingness to engage in multiple tasks reveal about their attitude 1
toward life?
7
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IV What does the narrator’s growing interest in the boys suggest about his perception of 1
them?

B. “My name is Ozymandias, king of kings:
Look upon my works, ye Mighty, and despair!"
Nothing beside remains. Round the decay
Of that colossal wreck, boundless and bare
The lone and level sands stretch far away. (Ozymandias)

|  How does the phrase ‘king of kings’ reflect Ozymandias’ perception of himself? 1

Il What does the line ‘Look upon my works, ye Mighty, and despair!” imply about 1
Ozymandias’ intentions for future rulers?

Il How does the imagery of ‘boundless and bare’ and ‘lone and level sands’ challenge 1
Ozymandias’ boast?

IV What message does the phrase “Nothing beside remains” convey about human 1
ambition?

C. MRS. JORDAN: What bureau was that, Father?
ABEL: Why, my bureau the one | bought
MRS. JORDAN: (pointing to the bureau) Was it that one. Father?
ABEL: Ah, that's it. What's it doing here? Eh? (A pause. The clock on the
mantelpiece strikes six. Everyone looks at it.)
Drat me if that isn't my clock too! What the devil's been going on in
this house? (A slight pause.)
BEN: Well, I'll be hanged.
MRS. JORDAN: [I'll tell you what's been going on in this house. Father. Nothing short of
robbery.
MRS. SLATER: Be quiet, Elizabeth.
MRS. JORDAN: (rising) I'll not be quiet. Oh, | call it double-faced.
HENRY: Now now, Elizabeth.
MRS. JORDAN: And you, too. Are you such a poor creature that you must do every dirty
thing she tells you?
MRS. SLATER: (rising) Remember where you are, Elizabeth.
HENRY: (rising) Come, come. No quarrelling.
(The Dear Departed)

| What does the dialogue between Mrs. Jordan and Mrs. Slater reveal about their 1
relationship?

Il What is Mrs. Jordan implying about Henry when she says, "And you, too. Are you 1
such a poor creature that you must do every dirty thing she tells you?"
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11.

Vi

12.

How does Mrs. Jordan's accusation of ‘robbery’ impact the atmosphere of the scene
in the extract?

What does Abel’s reaction to finding his possessions in the living room suggest about
his awareness of his daughters' intentions?

Answer any five of the following six questions in about 30-40 words each.

Support the view that the villagers were active participants in supporting Mrs.
Packletide’s ambition in the story ‘Mrs. Packletide’s Tiger'?

Explain briefly how the story ‘Patol Babu’ portrays the conflict between material
rewards and self-satisfaction.

How does the mood shift throughout the story, ‘The Letter'?
How does the author use technology as a plot device in the story ‘Virtually True’?

What role does the bog's audience play in the downfall of the nightingale in the poem
‘The Frog and the Nightingale’?

How does the structure of a Shakespearean sonnet enhance the impact of the poem,
‘Not Marble, nor the Gilded Monuments’?

Answer any one of the following two questions in about 150 words.
Discuss how the supernatural is portrayed in the drama excerpt ‘Julius Caesar’ and ‘A
Shady Plot’ and examine how these portrayals serve to influence the characters'
actions and the progression of the plot in each work?

OR
Both poems, ‘The Rime of the Ancient Mariner’ and ‘Snake’, depict the killing or harm

of an innocent creature. Compare how the poets use these actions to reflect on
human guilt and morality.

9
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ENGLISH COMMUNICATIVE -Code No. 101
MARKING SCHEME
CLASS-X-(2025-26)

General Instructions: -

1.

The Marking Scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, then due marks should be awarded
accordingly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

If more than one option is mentioned in the answer of multiple choice questions, then no
marks to be awarded.

SECTION A: READING SKILLS (22 MARKYS)

Answer the following questions, based on the passage above. 12

c) It plays a critical role in influencing global weather and climate patterns. 1

an unusually large impact or importance 1

Because these resources are essential for industries like telecommunications 2
and energy. Additionally, reliance on a single major supplier (the Asian country),
makes diversifying resource acquisition crucial for economic and geopolitical
stability.

b) vast and overwhelming in quantity

[Option a) is an obvious incorrect. Options c) and d) are plausible but incorrect:
Option c¢) implies a limitation in scientific measurement, which isn't suggested in
the passage. Option d) suggests difficulty in understanding the concept,
whereas the passage emphasises the sheer magnitude of the ice, not the
inability to comprehend it.]

a) vault, emphasising security and value 1

[Option a) is correct because it conveys immense worth and inaccessibility.
Option b) does not convey the sense of immense value and security. Option c)
also lacks the connotation of security and exclusivity. Option d) only suggests
easy accessibility and bulk storage, which contrasts with the idea of resources
being difficult to obtain]

Vi

d) Greenland’s Melting Ice: A Growing Concern for the 21st Century 1

[ Option d) is the best choice because it comprehensively reflects the
paragraph's focus on ice melt, rising sea levels, changing energy absorption,
and the long-term global implications, making it the most fitting title. Option a)

is too broad and doesn’t specifically focus on the main issues discussed in the
paragraph. While Option b) captures part of the paragraph’s focus, it misses the
critical detail about Greenland’s changing colour and its effect on energy

1



absorption, making it incomplete. Option c) focuses only on the energy
absorption aspect, neglecting the significant discussion about rising sea levels
and the long-term impact of ice melt]

VII | engine and on/off switch 1
VIII | warning 1
[The option ‘speculative’ is incorrect in this context because Jennifer Francis’
statement in paragraph 4 is not a guess or assumption without evidence. The
option ‘viewpoint’ is also incorrect as it typically reflects a personal opinion or
belief, which may not necessarily be based on factual or scientific evidence.
Jennifer’'s statement highlights a potential outcome which is not merely her
viewpoint but a scientifically supported cautionary message. Thus, ‘warning’ is
the correct choice because it highlights the cautionary and predictive nature of

her statement.]

IX Holland uses ‘eye-watering’ metaphorically to convey the overwhelming beauty 2
and grandeur of Greenland. While it may not literally reduce him to tears, the
phrase suggests the emotional intensity and awe-inspiring nature of the
experience. It highlights how Greenland's landscapes and wildlife leave a
profound visual impact that is hard to fully capture.

2. Answer the following questions, based on given passage. 10
I The tag 'A Hub for Livestock Trading' is suitable for the Nagaur Fair instead of 2
'‘Colourful Celebrations' because the fair primarily focuses on the large-scale
trade of livestock, with over 70,000 animals being traded annually, highlighting
its economic significance over its festive aspects. It reinforces its role as a

center for commerce rather than just a celebration of culture.
I c) annually 1
i ¢) Chand Baori is an ancient stepwell. 1
\Y, It highlights the increasing recognition and appeal of the Abhaneri Festival, 1
showcasing its success in drawing attention and admiration from visitors
worldwide.
v b) To attract buyers and showcase the animals for trading. 1
VI farmers and traders 1
VII | d) Showcasing regional culture 1
VIl | The Nagaur Fair spans four days because it involves extensive livestock 2

trading, requiring ample time for transactions, negotiations, and showcasing
animals. In contrast, the Abhaneri Festival lasts two days as it focuses on
cultural performances and celebration, which can be effectively showcased
within a shorter timeframe.

SECTION B- WRITING SKILLS (22 MARKYS)
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Format -1 Content -1 Accuracy -1 3

Suggested Content points:
e Highlight that it is a tree plantation volunteering event and how it aligns with
the school’s values of environmental awareness and community service
e Specify the date, time, and location of the event.
e Politely request permission to use school transport for the event and benefit
e Assure responsible usage and adherence to any guidelines provided.

Content - 1 Organisation - 1 Accuracy -1 4

Content Points:
e Name and type of the gadget.
e Brief reason for choosing it as your favourite.
e Mention the standout specifications (e.g., sleek design, high performance,

durability).

e Highlight unique functionalities (e.g., voice commands, Al integration, touch
screen)

e Describe its primary purpose (e.g., communication, entertainment,
productivity).

e Additional features that make it versatile (e.g., multi-tasking, connectivity,
battery life).

e How it enhances your daily life.

e Personal satisfaction or convenience provided by the gadget

Format -1 Content -3 Organisation -2 Accuracy -1

Ix7=7

Content Points:

=
[ ]

Impact on Students

Students without digital access face difficulties in attending online classes and
completing assignments.

Lack of exposure to digital tools limits learning opportunities and career readiness.
Emotional toll due to feelings of exclusion and falling behind peers.

Impact on Teachers

Teachers struggle to reach students equitably, especially in rural or low-income
areas.

Limited access to digital teaching aids and training hampers their ability to deliver
quality education.

Suggested Measures

Governments and NGOs should provide affordable devices and reliable internet
connectivity.

Establish community learning centers with shared digital resources.

Encourage public-private partnerships to improve technology access in schools.

Content Points:

=
[

Challenges
Many geological sites face neglect and vandalism, leading to their
gradual degradation.




Urbanisation, industrial activities, and unregulated tourism are major
threats to these sites.

Lack of public awareness and insufficient government action aggravate
the problem.

Suggestions for Preservation

Geological sites should be declared protected areas and maintained with
proper security measures.

Establish museums and information centers to promote the importance of
these sites.

Introduce educational programmes in schools to foster appreciation for
geological heritage.

Encourage responsible tourism and community involvement in
conservation efforts.

Conclusion
Urgent action is needed to protect these natural treasures and ensure
they are preserved for future generations.

Format - 1 Content - 3 Organisation —3 Accuracy -1

Content points:

=

=

Wellness is a holistic concept that includes physical, mental, and
emotional health.

A balanced lifestyle is essential for achieving complete wellness and
leading a fulfilling life.

Importance of Key Elements

Physical Health - Regular exercise, nutritious food, and adequate
hydration are vital for maintaining the body’s strength and immunity.
Mental Wellness - Practices like mindfulness, meditation, and maintaining
a positive outlook reduce stress and enhance emotional health.
Adequate Sleep - Quality sleep helps the body recover, boosts brain
function, and strengthens immunity.

Laughter - Known as the best medicine, laughter reduces stress
hormones, improves mood, and fosters better relationships.

Nature’s Medicines - Herbal remedies and natural treatments like
turmeric, tulsi, and ginger offer safe and effective healing.

Practical Suggestions

Include daily exercise and a balanced diet in your routine.

Dedicate time for relaxation and activities that bring joy, like spending
time with loved ones.

Sleep for 7-8 hours each night to recharge your body and mind.

Use natural remedies wisely, in consultation with experts, for common
ailments.

Conclusion

Complete wellness is not just about physical health but also mental and
emotional well-being.

By incorporating small but meaningful changes in daily habits, everyone
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can lead a healthier, happier, and more balanced life.

B. | Content points:
= Space travel has moved from being a domain for astronauts to a potential
avenue for public tourism.
= The idea of space tourism fascinates many, but it comes with significant
challenges and ethical concerns.
= Potential Benefits
e Unique Experiences - Experiencing zero gravity and viewing Earth from
space can inspire awe and a deeper connection to the planet.
e Economic Benefits -Creation of new jobs in the space industry, tourism,
and associated sectors.
e Advances in space technology could lead to innovations benefiting life on
Earth.
= Challenges and Concerns
e Environmental Impact - Rocket launches produce significant carbon
emissions, contributing to climate change. Pollution from frequent space
travel may harm the atmosphere.
e Accessibility Issues - High costs make space tourism available only to
the wealthy, increasing societal inequalities.
e Safety Risks - Space travel involves potential dangers like accidents,
equipment failure, and radiation exposure.
= Key Considerations
e Should humanity invest resources in space tourism when many critical
issues like poverty, education, and healthcare on Earth remain
unresolved?
e Can sustainable practices in space travel be developed to mitigate
environmental and ethical concerns?
= Conclusion
e Space tourism offers exciting possibilities, but its risks and impacts
cannot be ignored.
e While advancements in space technology are commendable, the focus
should first be on solving Earth’s pressing issues.
e Until space travel becomes safer, sustainable, and accessible to all, it
may remain a risky luxury rather than a step forward for humanity.
SECTION C-GRAMMAR (10 MARKYS)
7 Fill in the blanks with the appropriate option: 1x3=3
[ becoming
i refers
11 views
8 Identify the missing word in each line 1x4=4




No. Word Omission Word After
Before
e.gd. IS our most
i we should reduce
i is the only
ii small can make
v we must act

9 Do as directed. 1X3=3

I

i | Orissa is a beautiful state in the eastern part of India and we are known for our 1
rich heritage, vibrant festivals and exquisite temple architecture.

1

i if/ whether he had heard about the new discovery announcement the previous 1
day

ii | that he had heard about finding a planet with water vapour 1

10. | Read the given extracts and answer the questions briefly, for any two 2x4=8
extracts, of the three, given
A

| | The tone could be curious / inquisitive or surprised. The narrator might have 1
been genuinely interested in learning more about the boys’ work or surprised to
discover that they engaged in multiple tasks beyond picking and selling fruit.

Il | Nicola glanced hopefully at the narrator because he might have been expecting 1
his interest in hiring him and Jacopo as guides. He likely saw it as an
opportunity to earn more money, which would contribute to supporting their
sister's treatment.

Il | Displays their adaptability, and determination to overcome their difficult 1
circumstance

IV suggests that he sees them as remarkable and intriguing, recognising a depth 1
of character and maturity unusual for children of their age.

B

| | It suggests Ozymandias’ arrogance and belief in his unparalleled power and 1
superiority over all rulers.

[I | It implies that Ozymandias wanted future rulers to feel insignificant and awed by 1
his achievements, believing they could never surpass his greatness.

Il | The imagery emphasises the desolation and emptiness surrounding 1
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the ruins, contrasting sharply with Ozymandias’ boastful claim,
highlighting the futility of his pride.

It conveys the message that human ambition and achievements are ultimately
transient, as time reduces even the greatest works to insignificance.

The dialogue reveals a deep-seated rivalry / animosity between Mrs. Jordan
and Mrs. Slater. Both women are quick to accuse and belittle each other,
indicating underlying tensions and competition, especially regarding the
inheritance.

Mrs. Jordan is implying that Henry is weak-willed and lacks independence,
blindly following Mrs. Slater’s manipulative and self-serving instructions. Her
statement highlights her disdain for Henry's submissiveness and reveals her
perception of him as a spineless accomplice in Mrs. Slater's schemes.

It heightens the tension and drama in the scene. It exposes the selfishness and
greed of the characters, creating a chaotic and morally charged atmosphere.

Abel’s reaction, particularly his question about what the bureau and clock are
doing downstairs, suggests that he quickly discerns his daughters' opportunistic
behaviour and recognizes their greed and lack of respect.

11.

Answer any FIVE of the following SIX questions in 30-40 words each :

5x2=10

The villagers actively contribute to Mrs. Packletide's ambition by exaggerating
her success in killing the tiger. They help create the illusion that she is a brave
and heroic hunter by spreading the story and praising her. The villagers’
involvement in this deception reinforces Mrs. Packletide’s desire for social
recognition and enhances her false sense of accomplishment.

Initially, Patol Babu is disappointed by the small payment for his acting role,
feeling that it doesn't compensate for his years of experience. However, when
he immerses himself in his craft, he finds personal satisfaction in the perfect
execution of his lines, despite the meagre financial reward. The story portrays
how true contentment often arises from self-respect and the joy of doing
something well, rather than external recognition or financial gain.

The mood in the story shifts from melancholy to reflective, and ultimately, to a
bittersweet sense of empathy and regret. It begins with a sombre tone as Ali,
filled with loneliness and faith, endures the biting cold and mockery at the post
office. The mood turns reflective when Ali’'s story unfolds, and the postmaster,
experiencing similar anxiety, gains empathy. The ending blends sadness with
realisation, emphasising the human connection through shared suffering.




The author uses the concept of advanced virtual reality games to blur the lines 2
between the real and virtual worlds. By integrating Sebastian’s consciousness
into the psycho-drive games, the author explores the potential and unintended
consequences of futuristic technology, creating suspense and an engaging
narrative.

The audience's initial adulation creates a dependency in the nightingale for 2
constant applause, fuelling her need to perform tirelessly to maintain their
approval. This relentless pursuit of admiration pushes her to overexert herself
under the frog's guidance. Later, their loss of interest in her uninspired
performances deepens her despair, as she equates her worth with their
appreciation.

Vi

The Shakespearean sonnet form divided into three quatrains and a concluding 2
rhymed couplet, allows Shakespeare to build his argument progressively. In the
quatrains, he contrasts the impermanence of physical monuments with the
enduring nature of poetry, while the final couplet delivers a powerful conclusion,
highlighting the immortality of the loved one, through verse. The consistent
metre and the rhyme scheme provide a rhythm that reinforces the theme of
permanence amidst the passage of time.

12.

Answer ANY ONE of the following two questions, in about 150 words 1x8=8

A

Content points:

= Supernatural in ‘Julius Caesar’:

Portents and omens: Calpurnia’s dream, the soothsayer's warning (‘Beware the Ides of
March’), dreams of unnatural phenomena like graves opening etc.

Role: The supernatural heightens tension, foreshadows tragedy, and adds a layer of
inevitability to Caesar's fate. It reflects the characters' inner turmoil and the unrest of
Rome.

Supernatural in ‘A Shady Plot’:

The humorous take on the supernatural - Ghosts appear as part of a comical narrative,
with Helen (the ghost) providing a light-hearted take on the afterlife and her ‘Writer's
Inspiration Bureau.’

Role: Unlike in ‘Julius Caesar’, the supernatural in ‘A Shady Plot’ serves as a satirical
device to critique the writing process and human follies rather than a serious narrative.

Comparison:

In ‘Julius Caesar’, the supernatural reflects the gravity of fate, politics, and human
ambition. In contrast, in ‘A Shady Plot,’ it is a tool for humour and irony.

Both, however, influence the actions of the characters (Caesar ignoring the omens, John
in ‘A Shady Plot’ trying to appease Helen).




B.
Content Points:
= Introduction

o Both poems acts disrupt nature and lead to guilt and self-realisation.

o The Mariner’s act symbolises arrogance, while the narrator’s in ‘Snake’ reflects
conditioning by the society.

= The Mariner’s Act and Guilt

o The Mariner impulsively kills the Albatross, a symbol of goodwill and nature’s harmony.
e His action brings a curse, leading to suffering of his crew.

o Guiltis externalised as he is condemned share his tale as penance.

« Realisation comes through understanding the sanctity of all life, leading to redemption.

= The Narrator’'s Act and Guilt in ‘Snake’

o The narrator admires the snake’s majesty but is driven by conditioning to harm it.
o Unlike the Mariner, his regret is immediate and internal, reflecting personal moral failure.

o He envies the snake’s dignity and feels he has betrayed his own values by acting out of
fear and external expectation.

= Conclusion

« Both poems highlight the moral and emotional consequences of disrupting the natural

order.

« They emphasise guilt as a transformative force, leading to self-awareness and moral
growth.

e The poems point to humanity’s flawed relationship with nature and the need to respect all
living beings.




f2<dl (uTeuH-31) FHIS (002)

ufaest yyaz+
HeT-gadl (2025-26)

fAuffa aaa. 349e 3IfHaH 3iF : 80

=y e
frafeiaa A ! ga raur ¥ ufeu iR ST Tt ¥ SJuTa HIT -
() SHWEAPAIRTSS- &,T, 7,9 |
(i) SAVYEHAFA L5 Udg | St v efad | |
(i) YU H 3R fapeu fau mu § |
(iv) Tl o IR QT T8 FERIT &1 g1e @vd g¢ fafau |

WS - b

( JUfsd iy )
%@%Wﬁ%wwwwwﬁa@wmﬁ%w
YR Gpid, SHa-RIe 3R WH-UH H 71 3T (feied) &1 Ry R @
g | A TR SMTe 8UR WA & T AUeERI® B & A1Y-|1Y UgiaR0l & forg off
3= Bl § Fifh HH g 3R T1e & fiw 3 fasfRia gi od & | T8 g9R fow
TR BT §1d ¢ fob HRA THR & T W IGH AF A q¥ 2023 P SHRRPII AT
3ATS 9Y & T W T forar | et ST HIT 3TN B AR SRSl e[l
3R 37 IUTG- d A B dgrar AT g |
TS & o \e 3TN &1 Yo fUSal os Idifeadl § Yafed 8, W] 39
Qe 3R SV ol & TSR 81 81 H gU Sla-—IRAS S8l iR
fafere Taeh sreoa=f AU M T | MY Sha-=iel ¥ IO 8§19 ard A7 &
T T A1 SN & 3 W A4l & g = STHI-UgdHT 3R IR | Al
ST H g 3R o9 BT U T 3R Adferd ST it i urn Sian § |
S RE QI A1 3T Tl AT AUV 6 TS § AN AT | 29 3faral,
A1 3T SMER Jaeht =M,  UErgul a9T 3R HewW ol WiAel Slh-  dhie’raH,
arelRrd, TR, oA, e aur d-sie faerftl & Tg dd g |
Aie sM # 90T 3R WA § I8 a1 Wil & Saeg aaqe g | A1
STETEY 3HT Y 8] Bl T g HH AT 3 0 W DI AT A g 3 § |
g UH fa8s1 g | HIC 3™ & a1 # 39 fiRmae ¥ yRa & g fRufa & urt
HH S § | HRA H U B AT Vo § |

Iid - fag= wifa (AR uf3en)
Suded eI {6y favaasq R enerla g2
(YPUINUT B JHRT W)
(i) HIE MY & Hgd W
(iii)Fqferd 3R & Hewd W
(iv)aTRy e gHEme W

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




FAfRad HUF 3R RO R [GaR R §T TG [ddhed o1 9a4 B [AQy -
HY A ST BT ST YU S AHA F I § |
BRU - HIS 3FTST H 3o Ty 3R sivehy feai gt § |
fawey -
(i) PYT A g, fhg HRUT TG 3 |
(if) PYT 3R HRUI G Tad 3 |
(ifi) PUT T § 3R PRI HY D! Tg! AT ¢ |
(.v)aﬁu:rﬂ%‘r%%wm:raﬁﬂ%‘rwmﬁ%|
HYeT 3 aY BT I -
IId f[awed &1 T899 B -
(1) TS & ITGH BT FGIaT ol |
(1A TS & U TR dT T |
(1) 3T BT GBI Had Tid BT |
(IV)HTC ST T UTeTST & &ifdd Tgar |
famey -
(i) B (1) 3R (1) B § |
(ii) P HYT (111) TBT § |
(iif) Y (1) 3R (Iv) FET E |
(iv) B (1), (1) 3TR (IvV) TR & |
3175 Hie 3TN 3T b1 70T & DRU AT 81 3@ 8 2
HUIN] S JAR & FHIYH H A 3TSH 1 o Y{HPHT 81 bl ¢ 2
FAfIRId ST BT AMYdD Tedx 39 UR TR I T4 UYf & IR a9y
TS &1 Hd §
AR UgT-ferar
A 3T BT
3Tc-Jae PR W1 §

T2 df a8 v & o

oY FS1 Iad
CRERINIEEEIR A
fo g ila & SR
9 & ey

IR T B

g & IG!
UGRI PH HRITM
ggl dg 30 TNHT P
U= fead S

98 o & 9l
Wmﬁ%ﬁ
EENASIGIN

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




09 fh ™ & B o §1G
TS S ATl gt df HIaT §

Tl H g9feIT 31 §
St 3R TN 3R
fddt s pa

ST T8} b a8l Ppald
T 3R foreht & wa

ENEREIEEICIIY

ERRISIEE Gl

TMq a1l bl

Fiifes T8I IgT IeT Rt T gII-UId Tl bl

o o Ghd &

3R BIC Yobd &
PY Tl Johd §
WTS UTc I&hd §
3R R off gu=m
FHTSTATG GR HTYOT
dic T Jobd §

UGICEREED

TR Hiadl | frg HIg DI UM R 2
(i) eI

(ii) T e Fied

(iii) Y

(iv)\’rﬂaﬂ'ﬂ

A’ fha® Udie § 2

(i) TER &b Ug-ford Arerami &7 |

(if) JTEX P ATTaR0] T |

(iii) R1eX 1 et <7 |

(iv) [ER DI Jfaursfi &7 |

fRfRYd HY 3R FRU W IR FRd ¢ Iuged faswhed &1 994 o= [y
DY : R 8] A AM8E, 39 Y- BT |

PRU : 98 IIUT I TSR H 81 UAT-98T § |

fdp ey -

(i) PYF 794 ®, fhd PRUTTE § |

(i) PYF 3R BRI S &1 Ted |

(iii) PYUT TEI B 3R BRI HYF S T8t AR R |

(iv) BT TG B o R Y Bl &t e TR R |

TS T1d H SR 99 & ol &I IR el © 2

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




Hiad & YR R IR b fam &) iy e & Bt HId & SR & 2

TS -T

( ATGEIND HTHI )

FIGRIMIR ‘a1 & YR TR a1 Vg’ TR YR 91 Uil | ¥ fovgl IR Ui &
Wﬁf@t{:
979 I = diferdr st 3R - faeT fomm |
(IR 919 § o)
BIGR IT6d B! IR J ToRd JHT A | 3 3iaR (@S e |
(31 o o sefom)
T & T IR R AShal Hefl ¥ eR Fhadhe AR T o |
(T a1 H Safn)
HIdD AT 8! fob ST HITd P THIfaaT = 88 |
(T B =P B a1 &1 We fafan)
T IS 91d & 3 B1eit & U ST e @t o A €)1 @1 |
(Xifhd Iuare o1 ¥ fafau)
IR are’ W TYTRG Uld Uell & 3 fohg! aR Ui & IR (o1
TdIg = 7T &1 gaGR! I g & fear T | (PHaTa ¥ Fgfem)
aTd TTed gRT TR IR JTe 58T 1| (@qared H ggie)
3TN, US I SATH IS | (HTgaTed ¥ gefa)
T I8 P -Tol 8l 9o | (Fqared H ggia)
3&d GIRT AT hT \'S'vIaQI mTTP:lTl (dl=d Ugdlddr Q_Q' ddly)
FGIMOR O UR=dr  WR 1T Uia usit & 3 fohg! IR well o Y@ifobd Ual &1
Uq-ui=y forfan .
T UATA DI Dlcrsl aTal A e ¥HT faar |
W ®! UHANd Bids dgd w@iey |
Q[T U H e MR dedl ¢
D! S Wote! TR TR Id I8t A |
MERT | gHA [haT 311 &1 |
FSIMIR SE®Ry R 3nuRd urd ust o ¥ fel IR usll &t Yaifed Hraa
Ufdadl 7 3R UgdH o [y .
-7t 7§ s T SR |
DIfc PR I9 I BRI |
& ¢RE U 91 HORT | |
3 AT Ut 3UR, TSl HY IR UR |
0T A Al 39 UR, dd dob ddd 4T 39 UR ||
ReT g3 YdhId g §a1 & PR&GA & |
YId ST AN & U, I os ppdl |

TS - T

( U136 Y&deh Ud URh UTaY Y )

frafaied ufda meiw wR snuia dgfasmedia usi & Faide Iugdd IR
fdp ey g fafau -

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




T REAT TR, T8 R deei=dl | 8RB Udig A ) ¢ o Ma &) el g e
DI DR IRGI E | fbg, TNET WIS} E ! 8l, M- Hafi-
Ft Tdig & Aoieid U STd 3R I & Jad Id T B ded | e TRATAT &
T I s, foRfe o U A S e, WA SUY SEhR 3Fe Bl B T 2
A Hit-Tt a1, e A A T e Y, fhg e, T/ TS Pe}W U IUH
3T YT a1t XgT UT-98 oA fay™, S gORn 81 9 R faordt grar sman g |
¢ & fopar-ol o @ el foban;  udig @ & o feans Iuet | fbg St € o b1
AR IR B TS, TAIE P IS B AR ISP 1Y FR AT, TS 3 < §U b
D! G MG B &1

STERTITSA YT St §RT T T D 1F -1 BT ATHTIS URORT & (a9 T 2

(1) TdIg T §c &1 fordl & M feam |

(1) Tg I SHD HTS o 1Y AD Wol-T |

() §¢ &1 YT [AfY-faem I w1 |

(IV) §¢ DI G BT I8 T |

fadbey -

(i) BUT (1) 3R (1) TG B |

(if) FaAd HYT (11l) TB1 © |

(iii) PUT (1) 3R (IV) TR B |

(iv) YT () 3R (1) TEI B |

faRET o= Ut O o el - S Y O drerifed YT & SRR

FAIRId U 3R RO W fGaR FRd T SUGad [ddhed BT 994 B [y
HYF : SIS Y A 30 G B GEI G BT B 301 gAY J HRANT |
HRUN : ST HTd Sfefadt 3R I I & UeieR o |

fdp ey -

(i) YT TEd 8, fhd PRUI TR 7 |

(if) BYT 3R HRUT A 81 Tdd 7 |

(iii) DY Tl § 3R BRI HYF P| T TR |

(iv) BYT el § fbd HRU &Y & Jet TR a1 | |

RAP Dl Ug g & b TN HITd dal UlTd ol el 81 1T Fiifep

(1) I TdIg BT TP HTE & I AP UoT g 3 |

(1) 3 I & e SHd A B He 3@ U |
MEREEIEEEXICRINCIRERE

(Iv) d TAIg &1 g B &1 HIRR BB Y |

fame

(i)T:F?F_r (1) 3R (1) T % |
(i) PIA BUT (111) TS T |
(iii) U (1) R (V) TRT § |

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




(iv) YT (1) 3R (1) TS & |

d¢ Dt g o d1¢ SIS HITd 370+ 98 I T S{UETI@d A ?

(i) 98 3! 3ol Hal HY |

(ii) 98 fayar &1 Sitas did &Y |

(iii) T8 PER o TTd AT DY |

(iv) 96 GAIGAE PR A |

feiiRd 77 U8l & SMYR R FHgfoiRad oR usi § I foogl o9 Ui & IR aTH
25-30 ¥eql A faf9T -

Aol ST IR HeM! & YR W BIAGR UIed & Aiadd &1 UiRed
forfau |

ARIpT A YR A ST AT B ET eRAJ A BT 2

T B T8 Hr U6 & 3MYR IR WY HIfT|

TR HTfereh Ueh QR 99T ¢ | IR 7 a8 IR Ul 3 fob ffat ¥ I At &1 kg
3G g FAwa oMl |+ Higaw™ d e’ U6 & SMYR W faflyen @f &
U HYT DI WY IO

a@¢§@m_awm 3R JUIAT-3RTdT & HHOTA | Bl A I 1 Uy
AT 2

frafafad ufdd Hraa R eneiRd dgidmedia usi & qalfdd Iugdd 3R ardd
fadmed gD falka -

ARIH H O 9 AT & b Tl

TRUTT 7Y BISdT §5 S8 3R BIdT gl

S{TATS! ¥ X oIl H& FRdT gafl

I T TS Bl eled STl

Pl I T 37T § TITABR P WR

Fit-ft a5 91 B < <At § I A

I8 991 & fore {5 a8 sidben a1 8

3R Tg & fh O T &1 ghd1 ©

T ST g1 AT

3R I ATaTeT H S U fRwres I YT St ©

T 30 TR P ST 7 I8 P ol IR §

3N fawaar T8t

3! T FHT ST 918U |

"JRIWP H OF d96- T & STBT TAlr 39 Ulgd | ‘3B e, fhddb oIy
TN AT T g 2

(i) GITdPR & oy |

(i) TdeR & forg |

(ifi) TSI ATGH & ToTT |

(iv) T T o AU |
ﬁaﬁé@amﬁ%ﬁﬁ@r%ﬁ@rﬁwJlqu:%d(ﬂls%&ﬁwéﬁww
JAdT G 2

Te! fadhcu &1 994 Difog -

(1) S{TATST ¥ YR oIl $ IR 3T |

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




(11) TROT 1Y SISt g5 IS 3 BIell gl |

(111) BBl T T 37T & TTAPR BT TR |

(IV) STP! 3MTaTe § &l Ueh fedes e G T @ |

famed -

() YT (1) 3R (1) W18 |

(if) PIA BYT (1) TBI § |

(i) BUT (1) 3R (V) TET B |

(iv) BUT (1) 3R (1) T E |

FAfIRId HU 3R HRU R [GOR R §T TG [ddhed &1 9g4 B [AQY -

BYT : TIPR B SATaTel § Ueb fewiep Ao G1E St & 3R a8
3T TS Y S gl T4 &1 Pt BT HIAT B |

HRUT : TR DI THA G & o1 AR BT AT I § |
HTAHR HI AN ITD! I BT URAID § |

(i) HYF Tad g, fhg PRU T © |

(if) FYT 3R HRUT Gl 81 TAA B |

(ifi) PUT T8 & 3R BRI HYF I gl TR G |

(iv) BYT el § fhd HRU &Y &1 Jel T a1 § |

TTABR [hd THR T TS Bl G [GaTdl § 1 98 Shal T8l § 2

(i) T TTRID & JHH YR TR T M |

(if) T T Dl URd PP |

(iii) T T q $dl TR H M |

(iv) T T o ged WR H U1 WR e |

TTADHR & WR H fgad TS &+ &1 T HRUI G 2

(i) FTAPR H AHTAIY HT AU | |

(i) TTAPR T T &1 A S8 IGT I8dT § |

(ifi) TP R D! T H 3+ Udtordr 78t s § |

(iv) TTIPR H HT SR EHAT BT HT © |

e Hfaars & smurR R Fufafed TR Ui 7 9 feogl 09 uel & ST
25-30 ¥eql A fAf9T -

MU B Iad ° F PGS - &I & oI Tig 37" |

IREN & UG’ & YR R IR AR |

G TS 19678 GHIGT | 7 T 71 0I5l 9 77 - URYRTH St & He J T G
&1 &t )T Ufdfehar T 2

I’ 3R 3 RIS’ PIAdIS b MYR W Jhbid HAus! fFRrar

Sft & Uepfa o &1 auie 3ue Wegl | ifoTg|

JTHAGWE Hiddl & HIIH § Hid f SAH UGS’ Sif o Hfddd Bl ol AP
firerch 8, 98 3! SHMGRT 3R WT8Y T AT §, WY S|

R UT6d Jdd & MuUiRd aréf wR siemfivd Fafafea dausi d fedi arusi &
IR ATHT 50-60 gl A fAfQT .

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




AT BT 3fad UTS | I T d & o &9 &1 o0 g- 98 YA g & g
3= H ufkafdd g1 g1 ¢ | URafdd U ¥ 8 3aex0l ¢d §U 39 HYT & 9T |
37 foaR fafau |
T 1 AT A TS &) A1 9 HTd R S I 1Y fhaTg, Safds IEmg A9
®I UG I BH 9 ABT g7 FH-THT 81U Sife’ U6 & YR TR 31T 30
faarR fafau |
O foraai g7 U1 & SR W 13t b Wi’ faawrar «m gidt § » aue 4t
33T STt = T WF A & (A€ v Il 1 @ ?
s -9
( XTETHSD WG )
fAafeRad i fawal O O feelt T fawg IR Yo famgail & YR TR TR 120
Y] H U 3¢ fafe
(@) SHTTcrs N &1 Fgdr od
° WWW%"
o Tl 3R [HURI R Igdt UHS
o AT N & gy
() W Sffa Qe
o W SIG el BT ATTLHAT
o WY 3G fSTHPI UTeH fdbaT ST ATy
o W SGRIH & Y
() g8l 8 ¢ e / AA1eh SI geited
o  THQHIUH TG, T BT A ?
e T IRAMA® Silad & e ot ?
o T URON e ?
(F) 3T A/ § | 3T & | faoieh 3! Pl ¥ SaF gAEm3f &1
I FRd gU fordlt A e THRIR-UF & TUIGd &1 TRTHT 100 sl |
CERRIEEY
3{yaT

() 3T AT/ § | BIe-TIe A7 F oy 3! 2l AY gRT §dTe T TR,
T8 1 HehTerd B MU Ueb G §15 © | FOrepT 18 MU ardt Al & =]
TR’ IWE | T&ID &b UHIRM & TR W T gt AT BT THAT Hvd U 37
T 100 RMsal A U fafau|
(F) MU WRON/IRG & | MU <l fawa o 0. u. T & Ay € s u™
§1.7s. ®IfShi g | U =R & e ulaid faerey # <t fowg & wrde
fRerept & $ Ue Rad € | MU 3Y UG & AU 3Mdgd HRA1] | 3P fIu TTHT
80 el | U Uh WId d dIR HIFT |

3ryar
(@) 30 IRUM/IRS g1 3MMUP &F T ThTs qaRIT RIS G5 o | THe HHARN
SRR U T8 & | TR T ISR ) STY 3T HRId §U TIHT 80 Tegl
7 $-0d BT |
(@) IR SHoll &b TINT B UG ¢ o 104 TP SHYD [ATIH THTHT 40 Rsqi
¥ faggd Harad @ 3R I TR BT |

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




31yt
(@) 3D et e/ Riféiem &1 a1 ‘&g U8’ USRI S8 | 3= 39
TR TR FYUTE od §U TTHT 40 eal H U 9T o ARy |

“HUY] &7 & EHONE T 2024-25 B eI FoT=T ToAHT T 3y 2025-26 7 +f et w67/




3P GreT
ufaest UyuT (2025-26)

Wﬁ%ﬂ
W!ﬂwwm ®1 RABIYS TGRS ST § |

2. %uﬁwﬁﬁuwaﬁwu&h%wﬁg&ﬁnqﬁ%|
Y gIEAS Td Wiblad @ |

. afg wdendf 37 S fagell ¥ fiw, ffhg Suged SR € O S
Sugad i fau W |

. Th g UPR &I g W IR-9R 3 7 Bl WY |

5. ey # dqef o TAM - o ¥ g0 &1 AT iy ©

W ddbd / g fdg

g - &
( 3fuféd &Y )

fafRad TR B HFYdd Ugdh? 39 R SMYIRA Y& ¢ Yl & IW

iy HIc 3N & HgwW W |

(i)
(i) PUYT TEI g 3R HRU HYT St Tgl IS § |
() PUT (1) 3R () TS T |

3 Al [N DI AlGoddl & BRI -
.%—WWM@TWWﬁ&W@%W%
3% Qe SR Siudta o § o uRkfed gu § |
e U BUR WA & U dHeH® 89 & Iy-91Y wafarur & forg off
e i o T @ e ) e
° AT HAlA Qi Ha+] deldl |

(had a1 fdg sufém)

Waﬂw%waﬂﬁﬁ%&mﬁﬁﬁ&@@w%—

o TIC AN SMER Taeh IM, TUEdgul qu SR Hgw@yul @S M-
Ffevrgy, Uy, SMRmw, SmRA, e aur di-srger faerfiHl
$W@H%|

o HIC M SIB SN J UNT b AHA H Y B § |

o TC AW H TN R WA ¥ I3 Hd WMEEl & uid A |
STRehdT T 3R A M & Jdd Pl dgral el |

Page 1




( pad al fdg emfé@ )

fafiRed FTHR & AFga® Ued 39 IR SMUTRd I T Ul & I

(iii) Ui

() TERY & Ug-ford eaml &1 |

(iii) PUT Tel § 3R HRU HYT HI gl AT © |

. J6 AR P NG TP IHA AR TG § |
o TGl IHD UNED T T |
o TB IUB! IUTIFET 6l § |
(Pbad Tl fdg smférd)

UM & Ha & a1 HUd o1 aid Bd Hd § i Had ol 39d]
(P9 Tl fdg smférd)

SiifdeT &1 T1eq § |

s - 9
(T8RS TR

FEIMER T & YR WR ded Yo W ud drg well 8§ 9 ol
IR Ul & I ey -

9919 Ied o diferar Fed aAq foer femm |

Wd gIAGR Ued IR Y ToR dd I3 g H o8 SR famr faar |

T & Uh IR W ASHdl Hefl F dex el 3R AR T @t |

e are|m |

I IUdTR |

MR arr WR URd g udf | 9§ fogl IR U4l & IR faRag

ﬁ?mmﬁaﬁgﬁnmﬁ@rﬁ?ﬁmﬁmww|

a9 Iee 4 WR W A9l fBsdl |

313, US & /1 § 961 o |

H gg M T8l HY Jhdl |

HHAA |

MR Ug gR=dr W MuTRd Ui usll & 9 fbgl IR usi &
Gifhd UGl &1 Ua-UR=y ey -

T SR - Afdarae O, Wifell, Thddd, $H PRB |

gfardt- TuraTaed faRiwur, O Wik, Sgaed |

dedl §- 3BH® (b, dadd ®Id, Udhddd, Yfewdl, Hqdrd |

fqferar- Afdarae fear favmo, od W@ A fhar &t faRwan |

e -fownfedlys 3eqg, Uged YED |

FEMER SR’ W SMURG urd udl & ¥ b=l arR usi & I@ifhd
D1 Ulkidl # 3cdR UgdH PR ey

Uh HAPR |

JUHT 3AhR |

SffaeEifad PR |




AHAIHRU ABR |

I 3ADPR |

g - T
(UT6d J&de Td WReb UTed J&dd)

ﬁﬁ@a%mmw%@ﬂuuﬁ%ﬁ%mw

ard fawey gaApX

(i) PUT (1) Gﬁ? (IV) H—G‘T%I

i) HATHT |

(
(...aﬁmﬂ%ﬁ%aﬁvwwmﬁﬂﬁm%|
(V)PUT (1) 3R () T&t g |

.va"s'g:rﬁamw@m

ﬁuﬁawﬁ%wwwquﬁﬁﬁwmqﬁ$
I TN 25-30 sal § foIfQu -

e TIEGR WUEd &I Alddd CRHGd P G I fiauid ol |
o J WEIGI 3R IWHE! BT IHH Fd o |

o I HfGT T UWIH ISHT T TS T8l Hd V|

e d WG ¥ HIgH o |

( frgl @l gl &1 I suférd )

Y e dﬂl%ﬁﬁ?ﬁﬁﬁ%%wﬁ&m‘r
Wﬁﬁ?ﬁaﬁmﬁﬁglmﬁwmw
| foRe @ 99 & 96 9uie B gl 9 W @
g?ﬁ@j{rﬁé‘rﬂ-nﬂdﬁl 39d o R Tgax

( Tl o foigelt &1 I sofd )

Page 3




ﬁaﬁ@ammmaﬂma@ﬁwgﬁ%ﬂﬁmmw
fdpeq R forfau .

H@Wéﬂ%ﬁ|

iii) YT el & 3R BRU HYT B! el AT © |

iv) T % & god WR T Ul R fae |

arQ

(iv)

() PUT (1) 3R ()T § |
(ii

(iv

(i)

||WH@WWWWWW%|

fAuifa wfaaei & onyr W Fufafed IR el 7 3 fosl
d wslf & I TIHT 25-30 Wsdl H faf¥u .

o9 MoE 7 o b

o 99 W1 ®I 9 §gd 9T ¥ Udtem ax @ ff, 9 78 oMl

o 3H! GG PO ¥ @R o oM il ANT-HR o T oOf 3¢ I9H
PO DI TH d1d ToR S|
d U U4 9y fhar Ba qHgH @l SN 3% RY v fh
gR € IoHifa ufg smu
FWU B 3F IS BT I 8 T § |

(Pl @t gt &1 I smfém)

IR TS & AR S Bl dd ABI AGH0 GUHA ol |
I IRYRM St § Y R WR T &gl fob d9u ¥ a4 dga-4t
efear diet A, 9§ o omum T iy Ht At ol

T YS! Ia1 Hig | § 2

wra‘ri%rar 3¢ el W g7 Hfadl IR Bl § -
WqUTﬂ%’
aﬁﬁlﬁ?ﬂéw
gl § =% ufyal, AU Bd o W § |

(et a1 foigsif &1 I 3mfdm)

JTHAGW Hiddl & AlOH I
e ®IJ ARG UG Sl A 3O Yal Bl WHRA, 304 Siiad Hl
SHAd BT quH IR TAdT & PRU URGT @M Dl WBRITGT
TRA P 3fAEl IdH & T B WeER HR Ayl w1 fear g
|
e A GRT TE FeAI-BIC J ©ldd & Y To! HYUNM 3 &g 3Pt
SHFCRI &1 JHIUT 8 |

RSP U6d [dd & FUiRd Tiel R Snerid Fafeiad &9 wef & ¥ fooal
& Ul & IR AT 50-60 Wsal T faRw -

AT BT A U6 H I WP & o U &I 0 § 98 YD
g1 o uRafda & gt § -




TR WY 9 e YWBid & HRU dgl & ANl DI oiad- el

95d g g

Tgad URaRl &1 M Tha gRari 4 o fomn g1

Td 9 Yad & Il 95 TS B

S HiE3d, dUeid & YN &4 i gl

S Td & ARG & &F & JTHBHRI 3Wd g |

;ﬁqﬁ%ﬂéqﬁrwmw gl SUH We, d9 9 HO-A BT Gan
|

d% @ gfaur 3<% U § |
(gl IR fdgat &1 Icia 3férd)

A A & U9 T 84 ¥ Al § - .
A9 &1 RY gl siaa-e 9 giad foam # It 9ga Agayuf
Yyt A B
TS, 9T T o R @ ISR & JI-TY YT T
Twpfa &1 off sMeH-UeH gl § |
AFET-GFET B1Y Sifs’ aEl-gaid o dfder o Rifdey & aen sgd
g Higd, opu® Td SMeyl o
dgl $1 3UH Tigd I AT B F T Ul |
ﬁa@mmﬁaww , foxrear qur afgar ¥ wwlifgd gl

|

, 3R-3IR R J@-UUd qUT T8aq T8dl 5 Id0

upiad dicd ¥ 3M¥ed g} IAbl Fg Hradl b
cd # 8, U8 Wy Hxal § b aen wgw &

(gl IR fdgait &1 Iwcia 3férd)

YR R Hid faawmar -

gl Bl AR Il AR ofd 9 H Fufa &
yeear 81, dgt Hiad fdawar it §

I EH I Usal H HMYTed el HAl d9 dd

|
Wy 4 & forw fRIRm R fordt faar &1 a=f

WS - Y
(&S AG)

fafafed &9 fawal o O 6l @ fowg R Tobd fogal & SUR W
T 120 el U TH 3fJwe T -

G AN LC k]

1 3
3 3®
1 3f®
1 3&




fPdt T vy W @ 100 Wsal H UF fof@u .
PERGECR|




MATHEMATICS (BASIC) — Code No. 241
SAMPLE QUESTION PAPER
CLASS - X (2025 - 26)

Maximum marks:80 Time :3 hour

General Instructions

Read the following instructions carefully and follow them:

1. This question paper contains 38 questions. All Questions are compulsory.
2. This Question Paper is divided into 5 Sections A, B, C, D and E.
3. In Section A, Question numbers 1-18 are multiple choice questions (MCQs) and question no.19 and
20 are Assertion- Reason based questions of 1 mark each.
4. In Section B, Question numbers 21-25 are very short answer (VSA) type questions, carrying 02 marks
each.
5. In Section C, Question numbers 26-31 are short answer (SA) type questions, carrying 03 marks each.
6. In Section D, Question numbers 32-35 are long answer (LA) type questions, carrying 05 marks each.
7. In Section E, Question numbers 36-38 are case study-based questions carrying 4 marks each with
sub parts of the values of 1, 1 and 2 marks each respectively.
8. There is no overall choice. However, an internal choice in 2 questions of Section B, 2 questions of
Section C and 2 questions of Section D has been provided. An internal choice has been provided
in all the 2 marks questions of Section E.
9. Draw neat and clean figures wherever required. Take m = % wherever required if not stated.
10. Use of calculators is not allowed.
SECTION - A
(Multiple Choice Questions)
Each MCQ of 1mark, has four options with only one correct option, choose the correct option
Q. No. Question Marks
Q1. The exponent of 3 in the prime factorization of 2025 is
1
A) 1
B) 2
C) 3
D) 4
Q2. | If2024x 42025y = 1; 2025x + 2024y = —1,thenx —y =
1
A) 0
B) —2
C) 2
D) -1

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q3.

The number of polynomials having — 2 and 5 as its zeroes is

A) one

B) two

C) three

D) Infinitely many

Q4.

Which of the following is not a quadratic equation?

A (x+2)2=2(x+3)

B) x4+ 3x = (—1)(1 — 3x?)

C) (x+2)(x—1)=x*—-2x-3
D) x3—x?+2x+1=(x+1)3

Q5.

The value of x for which 2x, (x + 10) and (3x + 2) are the three consecutive terms
of an AP is

A) 6
B) - 6
C) -2
D) 2

Q6.

If1+2+3+4+---+50 =25k, thenk =

A) 50
B) 51
C) 49
D) 26

Q7.

The distance between the points (cos30°, sin30°) and (cos60°, — sin 60°) is

A) 0 unit
B) V3 units
C) 1 unit
D) V2 units

Qs.

The co-ordinates of the point which is mirror image of the point ( -3, 5) about x-axis
are

A) (3,5)

B) (3, -5)
C) (-3,-5)
D) (-3, 5)

Qo.

AB AC
If in AABC and ADEF, EF — DE then they will be similar when

A) £A=¢1D
B) £A=+£E
C) 2C=¢F
D) «B = £E

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q10.

If AABC~APQR, then perimeter of the triangle PQR (in cm) is

A) 12 A P
B) 24
C) 18 3em Scm
D) 20 10cm
B 4cm ¢
Q R

For visually Impaired students only

If AABC~APQR, where AB = 3cm, BC = 4cm, AC = 5cm and PR = 10cm, then
perimeter of the triangle PQR (in cm) is

A) 12
B) 24
C) 18
D) 20

Q11.

In the figure given below, radius r of the circle which touches the sides of the
triangle is

A) 3cm
B) 6 cm
C) 7cm
D) 4cm

For visually Impaired students only

From a point P, which is at a distance of 26cm from the centre O of a circle with
radius 10 cm, the pair of tangents PQ and PR to the circle are drawn. Then the
area of the quadrilateral PQOR (in cm?) is

A) 220
B) 240
C) 260
D) 280

Q12.

Which one of the following is not equal to Unity?

A) sin’x + cos?x
B) cot?x — cosec?x
C) sec’x — tan’x
D) tanx. cotx

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q13.

Consider the following frequency distribution

Class 0-5 5-10 10-15 15-20 20-25
Frequency 11 12 13 9 11

The upper limit of median class is

A) 10
B) 13
C) 15
D) 20

Q14.

Let empirical relationship between the three measures of central tendency be
a(Median) = Mode + b(Mean), then (2b + 3a) =

A) 11
B) 12
C) 13
D) 14

Q15.

From an external point Q, the length of tangent to a circle is 12 cm and the distance
of Q from the centre of circle is 13 cm. The radius of circle (in cm) is

A) 10
B) 5
C) 12
D) 7

Q16.

In the given figure, PA is a tangent from an external point P to a circle with centre
O and diameter AB. If zZPOB=115°, then measure of APO is

A) 25°
B) 30°
C) 20°
D) 65°

For visually Impaired students only

At one end A of a diameter AB of a circle with radius 13 cm, tangent XAY is drawn
to the circle. The length of the chord CD parallel to XY and at a distance 18 cm
from Ais

A) 24 cm
B) 25cm
C) 26 cm
D) 18 cm

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q17.

The circumferences of two circles are in the ratio 3 : 4. The ratio of their areas is

A) 3:4
B) 4:3
C)9:16
D) 16:9

Q18s.

An event is most unlikely to happen. Its probability is

A) 0.0001
B) 0.001
C) 0.01
D) 0.1

Each of the following questions contains two statements i.e., ASSERTION
and REASON, and has following four choices. Only one of which is the
correct answer.

Q10.

ASSERTION (A): Line joining the midpoints of two sides of triangle is parallel to the
third side.

REASON (R): If a line divides two sides of a triangle in the same ratio then it is
parallel to the third side.

A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A).

B) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A).

C) Assertion (A) is true but reason (R) is false.

D) Assertion (A) is false but reason (R) is true.

Q20.

ASSERTION (A): Two coins are tossed simultaneously. Possible outcomes are two

heads, one head and one tail, two tails. Hence, the probability of getting two heads
is% :
REASON (R): Probabilities of ‘equally likely’ outcomes of an experiment are always

equal.

A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A).

B) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A).

C) Assertion (A) is true but reason (R) is false.

D) Assertion (A) is false but reason (R) is true.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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SECTION - B
(Very Short Answers)
This section comprises of VSA of 2 marks each

Q21. | (A) Show that the number 2 x5 x 7 x 11 + 11 X 13 is a composite number.
OR
(B) Find the smallest number which is divisible by both 306 and 657.
Q22. | Find the radius of the circle with centre at origin, if line I given by x + y =5 is
tangent to the circle at point P.
¢ . >0
P(3., a)
For visually Impaired students only
Find the radius of the circle whose end points of a diameter are (0, 0) and (6, 8).
Q23. | If the zeroes of the quadratic polynomial x* + (a + 1)x + b are 2 and — 3, then
find the values of @ and b.
Q24. | Find the nature of roots of the quadratic equation x? +4x—3vV2=0.
Q25. | (A) Evaluate : 2 sin 30°tan60° — 3 cos? 60 °sec?30°

OR

. 7
(B) If sInx=-z,

sinx. cosx(tanx + cotx).

where X is an acute angle, then find the value of

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26

Page 6 of 11




SECTION-C
(Short Answers)
This section comprises of SA type questions of 3 marks each

Q26. | Show that v2 — /5 is an irrational number.

Q27. | (A) The frequency distribution table of agriculture holdings in a village is given

below:
Areaofland |\ 5| 3 5|5 7| 7.9 |9-11 [11-13
(in hectares)
No. of families 20 45 80 55 40 12

Find the modal agriculture holdings of the village.
OR

(B) If the mean of the following distribution is 54, find the value of p.

Class Interval | 0-20 | 20-40 | 40-60 | 60-80 |80—100
Frequency 7 p 10 9 13

Q28. | A quadrilateral ABCD is drawn to circumscribe a circle, as shown in the given
D R C

\\ il

AB+CD _

figure. Show that ———— =
AD + BC

For visually Impaired students only

Show that parallelogram circumscribing a circle is a rhombus.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q29.

(A) On a particular day, 50000 people attended a Cricket Test Match between
India and Australia in Sydney Cricket Ground. Let X be the number of adults
attended the cricket match and Yy be the number of children attended the
cricket match. Cost of an adult ticket was 1000 while cost of a child ticket was
%200. On that day Revenue earned by selling all 50,000 tickets, was
%4,20,00,000. Find how many adults and how many children attended the
cricket match?

OR

(B) Solve for x and Yy, graphically: 2x + y = 6; x + y =5

For visually Impaired students only

(A) On a particular day, 50000 people attended a Cricket Test Match between
India and Australia in Sydney Cricket Ground. Let X be the number of adults

attended the cricket match and Yy be the number of children attended the
cricket match. Cost of an adult ticket was ¥1000 while cost of a child ticket
was %200. On that day Revenue earned by selling all 50,000 tickets, was
%4,20,00,000. Find how many adults and how many children attended the
cricket match.

OR

(B) A 2-digit number is 6 times the sum of its digits. The number formed by
reversing the digits is 9 less than the given number. Find the number.

Q30.

Prove that : (sinx — cosx + 1). (secx — tanx) = (sinx + cosx — 1)

Q31.

The sum of first n terms of an AP is 5n% — n. Find the n'" term of the AP.

SECTION - D
(Long Answers)
This section comprises of LA type questions of 5 marks each

Q32.

Prove that a line drawn parallel to one side of a triangle intersecting other two sides
in distinct points, divides the other two sides in the same ratio.

Q33.

(A) The numerator of a fraction is 3 less than its denominator. If 2 is added to both
of its numerator and denominator then the sum of the new fraction and original
fraction is % Find the original fraction.

OR
(B) A train covers a distance of 300 km at a uniform speed. If the speed of the train

is increased by 5 km/hr, it takes 2 hours less in the journey. Find the original
speed of the train.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q34. | (A) The angle of elevation of the top of a chimney from the foot of a tower is 60°
and the angle of depression of the foot of the chimney from the top of the tower 5
is 30°. If the height of the tower is 40 meters, find the height of the chimney.
Also, find the length of the wire tied from the top of the chimney to the top of
tower.

OR

(B) The angles of depression of the top and bottom of a 50m high building from the
top of a tower are 45° and 60° respectively. Find the height of the tower and the

horizontal distance between the tower and the building. (Use V3 = 1.73)

Q35. | A solid toy is in the form of a hemisphere surmounted by a right circular cone of
height 2cm and diameter of base 4cm. If a right circular cylinder circumscribes the 5
toy, find the difference of the volumes of the cylinder and the toy. [Use 1 = 3.14]

SECTION - E
(Case-study Based Questions)
This section comprises of 3 case-study based questions of 4 marks each with three sub-parts.

Q36. | Carpooling is the sharing of car journeys so that more than one person travels in a
car, and prevents the need for others to have to drive to a location themselves. By
having more people using one vehicle, carpooling reduces each person’s travel
costs such as: fuel costs, tolls, and the stress of driving. Carpooling is also a more
environmentally friendly and sustainable way to travel as sharing journeys reduces
air pollution, carbon emissions, traffic congestion on the roads, and the need for
parking spaces.

4

10— 11—

1

Three friends Amar, Bhavin and Chetanya live in societies represented by the points
A(4,5), B(6,2) and C(2,6) respectively. They all work in offices located in a same
building represented by the point O(0,0). Since they all go to same building every
day, they decided to do carpooling to save money on petrol. Based on the above
information, answer the following questions.

i) What is the distance between B and C? 1

i) If Bhavin and Chetanya planned to meet at a club situated at the mid-point of 1
the line joining the points B and C, find the coordinates of this point.

iif) (A) Which society is farthest from the office? Also find its distance from the office. 2

OR
(B) Out of B and C which society is nearer to A? Also find their distances.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q37. | A water sprinkler is a device used to irrigate agricultural crops, lawns, landscapes,
golf courses, and other areas. Water sprinklers can be used for residential,
industrial, and agricultural usage.

. A water sprinkler is set to shoot a stream of water a distance of 21 m and rotate
through an angle which is equal to complementary angle of 10°.

Watered region

> I
Water sprinkler

i) What is the area of sector in terms of arc length?
i) What is the area of the watered region (in terms of )?
i) (A) If the radius(r) changes to 28m, find the angle 6 so that the area of the
watered region remains the same.

OR

(B) If the radius(r) is increased from 21m to 28m and the angle remains
the same, what is the increase in the area of the watered region?

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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Q38.

One of four main blood types can be found in a human body. They are known as A,
B, AB and O. Each blood type can be further classified as either a Rhesus positive
(+) or Rhesus negative (-).For example, a possible combination is blood type O and

Rhesus negative which is written as O~

The data below shows the distribution of the blood types and Rhesus types of given
blood type for a Blood Donation Center recorded (in percentages) for the year
2023.

NUMBER
BLOOD RHESUS OF Ty R
GROUP FACTOR PERSONS '
(in %) I% ‘ l
o~ X ﬁ N
O : \
o* 30 ;
A~ 8 :i' ‘.4—“ i - | ]
A
A 24 ‘
B B~ 6
B* 18
AB~
AB
AB* 3 LS

i) Find the value of x.
i) Find the probability that a randomly selected person has a Rhesus negative
blood type.
i) (A) What is the probability that the person selected from the record is
Rhesus positive but neither blood type A nor B?

OR

(B) People with blood type AB positive (AB™) are known as the universal

recipient and with blood type O negative (O~) are known as universal donor.
Find the probability of a selected person to be neither universal recipient
nor universal donor.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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MATHEMATICS BASIC — Code No. 241
MARKING SCHEME
CLASS - X (2025 - 26)

SECTION - A

Answer

Marks

Answer - D
As, 2025 = 34 x 5%
So, the exponent of 3 in the prime factorization of 2025 is 4

Answer — B
On subtracting first equation from second equation, we get
2025x + 2024y — 2024x — 2025y =-1-1 = (x—y) = -2

Answer - D
As, f(x) = kx+2)(x—5)= f(x) =k(x? —-3x—10),k# 0
Since k can be any real number. So, there are Infinitely many such polynomials.

Answer - C

On simplification, given equations reduce to
(A) x? + 2x — 2 = 0 (Quadratic Equation)
(B) 2x? — 3x — 1 = 0 (Quadratic Equation)
(C) 3x +1 = 0 (NOT a Quadratic Equation)
(D) 4x? + x = 0 (Quadratic Equation)

Answer — A

As,2(x+10) = (Bx+2) +2x =x =6

Answer — B

50(51)

As,
2

=25k =k =51

Answer - D

Distance between the given points = \/(% - ‘/2—5)2 + (% + \/2_5)2 =2

Answer - C

We know that, for the coordinates of a mirror image of a point in x-axis,
abscissa remains the same and ordinate will be of opposite sign of the ordinate
of given point. So, the Mirror image of the point (-3, 5) about x-axis is (-3, —5).

Answer — B
As, AABC ~ AEFD = 2A = £E
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10. Answer - B 1
AB  BC AC 1
As, AABC~APQR=> —=—=—=- =PQ=6cm,QR=8cm
PQ QR PR 2

Perimeter of the triangle PQR (incm) =6 + 8 +10 = 24
Question given for Visually impaired candidates 1
Answer - B
The solution is same as above.

11. Answer - A 1
From the figure, AE=24 —-r=AF.So,BF=1+r=7-r=r=3cm
Question given for Visually Impaired candidates

1

Answer - B
As, PQ=PR =24 cm
So, Area of Quadrilateral PQOR (in cm?) = 2 x% X 24 x 10 = 240

12. Answer - B 1
As, cot?x — cosec’x = —1, soitis NOT equal to Unity

13. Answer - C 1
As, Median class is 10-15. So, its upper limit is 15.

14. | Answer-C 1
Since, 3 Median = Mode + 2 Mean. So,a=3 & b =2.
Thus, (2b +3a)=4+9=13

15. Answer - B 1
Radius (incm) =v132 — 122 =5

16. Answer — A 1
As, £PAO= 90°. So, £APO = 115° — 90° = 25°
Question given for Visually Impaired candidates 1
Answer — A
As, the chord is at a distance of 18 cm (more than the radius). So, the chord
will be at a distance of 5 cm on the opposite side of the centre. Thus, length
of the chord CD will be 2v132 — 52 = 24 cm

17. Answer - C 1
As, ri:r2 =3 : 4. So, the ratio of their areas =r12: 22 =9 :16

18. Answer — A 1
Since, the event is most unlikely to happen. Therefore, its probability is 0.0001

19. Answer — A 1
As, Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A).
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20.

Answer - D
Since events given in Assertion are not equally likely, so probability of getting

two heads is not §
Thus, Assertion (A) is false but reason (R) is true.

Section -B

[This section comprises of solution of very short answer type questions (VSA) of 2 marks each]

21 (A). | It can be observed that,
2X5%x7x114+11x13=11 x(70+13) =11x83 1
which is the product of two factors other than 1. Therefore, it is a composite 1
number.
OR
21 (B). | The smallest number which is divisible by any two numbers is their LCM. .
2
So, Number which is divisible by both 306 and 657 = LCM (306, 657)
Since, 306 = 2! x 32 x 17! and 657 = 32 x 73 1
LCM (306, 657) = 2 x 32 x 171 x 73 = 22338 Ve
22. | As,P(3,a)liesonthelinelL,so3+a=5=a=2 1
Now, the radius of the circle = CP = V32 + 22 = /13 units 1
Question given for Visually Impaired candidates
Diameter of the circle = Distance between (0,0) and (6,8) = V62 + 82 = 10 1%2
Radius of the circle = %% (Diameter of the circle) = 5 units 1%
23. Sum ofthe zeroes=2-3=—(a+1)=a=0 1
Product of the zeroes=-6=b=b = —6
Hence,a=0&b = —6 1
24. | Discriminant, D =16 + 12/2 >0 1
As, Discriminant is positive. So, Roots are real and distinct. 1
25 (A). . o o 2 snon 2om0 — o1 1\2 [ 2\? 1%
25in30°tan60° — 3 cos? 60 °sec?30° = 2(3) (V3) -3 () ()
=+3-1 1
OR
25 (B). . s sinx | cosx
As, sinx. cosx(tanx + cotx) = sinx. cosx (COSX Sinx). 1,
_ . 1
— SINX. COSX (cosx .sinx)
=1 (Constant) 1Y
Since, the value of sinx. cosx (tanx + cotx) is constant, so its equal 1 for all
angles.

Page 3 of 11



[This section comprises of solution short answer type questions (SA) of 3 marks each]

Section -C

26. | To prove that (v2 — v/5) is an irrational number, we will use the contradiction
Method.
Let, if possible, v2 — /5 = x, where x is any rational number (Clearly x # 0)
2 1
s0,V2=x+V5 =2=(x+V5)
=2 =x?+5+2V5x
= —x? — 3 = 2/5x
-x2-3
=——-= N (1)
1
(Note: /5 is an irrational number, as the square root of any prime number is
Always an irrational number)
In equation (1), LHS is a rational number while RHS is an irrational number
but an irrational number cannot be equal to a rational number.
So, our assumption is wrong.
Thus, (V2 —V/5) is an irrational number. 1
27 (A).
Area of land No. of
(in hectares) families
1-3 20
3-5 45 fo
Modal classll®» 5-7 80 f1 1
7-9 55 fo
9-11 40
11-13 12
2
~ Modalclass=5-7,1=5 h=2
- fi—fo _ 80-45 _
Mode = | + (m)h =5+ (m) 2=6.166.....
Hence, modal agriculture holdings of the village is 6.17 hectare (approx.)
OR
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27 (B).
Xi
Class interval fi (Mid- di= x";ﬂ fidi
value)
0-20 7 10 -1 -7
20-40 p 30 0 0
40-60 10 50 1 10
60-80 9 70 2 18 2
80-100 13 90 3 39
Total 39+p 60
Assumed mean(A) = 30, Width of the interval (h) = 20
Mean:30+%x20=54=>50=39+p=>p=11 1
28.
Tangents drawn to a circle from an external point are equal.
So, AP = AS, PB = BQ, 1%
CR=CQ,DR=DS
On adding the above equations,
(AP + PB) + (CR+ RD) = (AS + BQ) + (CQ + DS) L
= AB+ CD=AD + BC
AB + CD
= - - Y5
AD + BC
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Question given for Visually Impaired candidates
Parallelogram ABCD circumscribes a circle as shown in figure.
Tangents drawn to a circle from an external 115
point are equal
So, AP = AS, PB = BQ,
CR=CQ,DR=DS
On adding the above equations,
(AP + PB) + (CR+ RD) = (AS+ BQ) + (CQ+ DS)
= AB + CD=AD + BC
= 2AB = 2BC (Opposite sides of parallelogram are equal) 1
Thus, AB =BC
Since, in Parallelogram ABCD a pair of adjacent sides are equal. .
Hence, ABCD is a rhombus. 72
29 (A). | According to the question,
1000x + 200y = 42000000 = 5x +y = 210000 ......... (1) 1
x+y=50000 . (2) Y
(1) - (2) = 4x = 160000
= X = 40000 1
Substituting value of x in (2), y = 10000 Yo
~ Number of adults attended the match is 40000 and number of children
attended is 10000
OR
29 (B).
2x +y = 6 x [2 ]3]0 =
y |2 |0 |6
2
x+y=5 X |2 1510 For
y [3]0]5 graph
Hence solution is i
x=1y=4 1
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Question given for Visually Impaired candidates

29(A) Solution and marks distribution is same as above

OR

29(B) Let unit place digit be x & tens place digit be y
=~ original number = 10y+x
Reversed number = 10x+y

Given, 10y + x = 6(X + )
= 5x—-4y=0 ...... (1) 1
And (10y +x) — (10x+y) =9
= -Ox+9y =9 1
= X—y=-1 ...... (2)
On solving (1) and (2) , we getx=4,y=5 1

~ The number is 54

30. LHS = (sinx — cosx + 1). (secx — tanx)
= (sinx — cosx + .1). (lc_j;zx) | 1
= (1 + sinx) (%) - cosx (1;:;2;:) 1
= (1;?:;’6) — (1 — sinx)
:%—1+sinx:sinx+cosx—1:RHS 1
31. |As,Snh=5n%—n
Now, nth Term is given by an = Sn — Sn-1 Yo
an=[5n?2—n]-[5(n—1)2-(n—-1)] 1

an=5n%?—-(n—1)?]-[n-(n-1)]
an = 5[2n-1] — [1]
an=10n-6 1Y%

Section =D
[This section comprises of solution of long answer type questions (LA) of 5 marks each]

32.

Ya

Given: In AABC, a line | drawn parallel to side BC intersects AB and AC at D
and E respectively.
. AD _ AE 72
rove: — = —
0 prove DB EC
Construction: Draw perpendicular from D and E to AC and AB i.e., DMLAC Yo

and EN_LAB. Join DC and BE.
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a Yy
(for
i Proof: correct
N 1 figure)
. Dl E . ar(AADE) _ ;(AD)(EN) _ AD )
- . - -1 T i
~ - ar(ABDE) S(BD)(EN) DB 1
-~ T
e - e - .
B& A ¢ 1
* ar(AADE) _ ;(AE)(DM) _ AE ) Y
aT(ACED) %(EC)(DM) EC .........
Y%
Also, ar(ABDE) =ar(ACED) .......... (3)
(Triangles on same base and between same parallel are equal in area)
1
ar(AADE) _ ar(AADE)
From (1), (2) & (3), we get ar(ABDE) _ ar(ACED)
AD _ AE
— = — (Hence proved)
DB EC
33 (A) | Let the denominator of the required fraction be x
Then, its numerator =x — 3
So, the original fraction is % 1
Given,
(=H+2 (x=3) 29 1
X+ 2 x 20
x—-1) +(x—3) 29
X+ 2 x 20
(x—Dx+x—-3)x+2) 29
(x + 2)x 20
x> —=x+x*—x—6 29
x% + 2x ~ 20
20(2x% — 2x — 6) = 29(x? + 2x)
11x2 —98x — 120 =0 1%
11x2 —110x + 12x— 120 =0
11x(x—10) + 12(x—10) =0
(11x+12)(x—10) =0
x=10o0rx = —1—? (not possible as it is not an integer) 1
~x=10 1
Hence, the required fraction is 1—70
OR
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33 (B)

Let the original speed of the train be x km/hr
Distance travelled be 300km

=~ Original time (to) = % hr

New speed of the train = (x+5) km/hr

~ New time (tn) = % hr

Given,
to—th=2
300 300

X x+5

300(x +5) —300(x) _
x(x+ 5) -

1500

x2 4+ 5x

x2+5x—750=0

x?+30x —25x — 750 = 0
x(x+30)—25(x+30)=0
(x—25)(x+30)=0
x = 25 or x = —30(not possible as speed cannot be negative)
~x =25

Hence, the original speed of the train is 25km/hr

Yo

Ya

1Y%

Yo

34 (A)

Let BA be the Chimney and CD be the tower.

Chimney
A

Tower
(B

300

300 60° 40m
B c

In ACBD, tan30° = ;—2 — BC = 40v3m

In AABC, tan60° = -2 — AB = 120 m
4043

AE = (120 — 40) m = 80m, ED = BC = 40+/3m
Now, AD = VAE? + ED?2 = /6400 + 4800 = 40vV7 m

Thus, length of wire tied from the top of the chimney to the top of tower is
40V7 m.

OR

1 (for
correct
figure)

1Y%

1%
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34 (B) | Let EC be the tower and AB be the building.
E 45"
600
hm
1 (for
450 A correct
D figure)
50°m
60° 5
C L}
h xXm 11/2
In AEDA, tan45° = ;:> h=x
1%
o _ EC _ — 50 _
In AEBC, tan60° = .- = h+ 50 =V3h = h =——=25(3+ 1)m 1
2
Thus, h = 68.25 m = x (Horizontal distance between the tower and building)
Yo
Now, height of the tower =68.25 + 50 = 118.25 m
35. Volume of toy = VOlHemi-sphere +V0lcone
h=2cm
H=4cm 1
r=2cm (for
correct
_— figure)
- d=4cm T
= §1TI'3 + %m‘zh = %an(Zr +h) = 25.12 cm?3 2
Volume of circumscribing cylinder = nr?H =50.24 cm3 1
Now, difference in the volumes of circumscribing cylinder and the toy
= Vol. of cylinder — Vol. of toy
=(50.24 — 25.12) cm?
=25.12 cm?3
Hence, difference in the volumes of circumscribing cylinder and the toy is
25.12cm?.
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Section -E

[This section comprises solution of 3 case- study based questions of 4 marks each with three sub
parts of 1, 1 and 2 marks each respectively]

36 (i) Distance between B and C = 4v2 units 1
(i) Mid-point of the line joining the points B and C = (4, 4) 1
(iii) (A) As, OA = /41 units, OB = /40 units, OC = V40 units 1Y%

So, society A is the farthest from the office. 1
OR
(i) (B) As, AB = v/13 units, AC = /5 units 1%
So, Society C is nearer to society A. V2
37. (I) Area of sector = (Arc length x radius) 1
2
(i) Area of sector = %n X 441 = 981 m? 1
(iii) (A) 22 17 x 441 = 27 x 282 !
360 ~ 360" 1
0 = 45°
OR
(iii) (B) Increase in the area of the lawn watered = %n x (784 — 441) 1
= 239.56 m? 1
38. () x=100-(30-32-24-4)=10 1
N . 10+8+6+1
(i) P(selected person to have Rhesus negative blood type) = %
=25 ol 1
T100 4
. . . : 3043
(iii) (A) P(person is Rhesus positive but neither A nor B type blood)= 100 141
_33
100
OR
(iii) (B) P(person is neither universal recipient nor universal donor)
_ (3+10) 1%
h 100
_g 13
7 100 1
_8
100
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MATHEMATICS STANDARD — Code No.041
SAMPLE QUESTION PAPER
CLASS - X (2025-26)

Maximum Marks: 80 Time

General Instructions:

Read the following instructions carefully and follow them:

1.
2.

3.

This question paper contains 38 questions. All Questions are compulsory.
This Question Paper is divided into 5 Sections A, B, C, D and E.

: 3 hours

In Section A, Question numbers 1-18 are multiple choice questions (MCQs) and questions no.

19 and 20 are Assertion- Reason based questions of 1 mark each.
marks each.

each.

each.

with sub parts of the values of 1, 1 and 2 marks each respectively.

. In Section B, Question numbers 21-25 are very short answer (VSA) type questions, carrying 02
. In Section C, Question numbers 26-31 are short answer (SA) type questions, carrying 03 marks
. In Section D, Question numbers 32-35 are long answer (LA) type questions, carrying 05 marks
. In Section E, Question numbers 36-38 are case study-based questions carrying 4 marks each

. There is no overall choice. However, an internal choice in 2 questions of Section B, 2 questions

of Section C and 2 questions of Section D has been provided. An internal choice has been

provided in all the 2 marks questions of Section E.

9. Draw neat and clean figures wherever required. Take & = % wherever required if not stated.

. Use of calculators is not allowed.

(Section A)
Section A consists of 20 questions of 1 mark each.
Q.No. Questions Marks
1. [fa=22x3*b=22%x3x%x5,c=22%x3x%x7andLCM (a,b,c)= 3780, then x is 1
equal to

(A1 (B) 2 ©)3 (D)0
2. The shortest distance (in units) of the point (2,3) from y-axis is 1

(A) 2 (B)3 (©)5 (D)1
3. If the lines given by 3x +2ky =2 and 2x+5y +1=0 are not parallel, then k has to be 1

NE= (B) #2

(C) any rational number (D) any rational number having 4 as denominator

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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4. A quadrilateral ABCD is drawn to circumscribe a circle. If BC=7cm, CD=4cm and 1
AD=3cm, then the length of AB is

(A)3cm (B) 4cm (C) 6cm (D) 7cm

5. If secO + tan® = x ,then sec6® — tanO will be 1
(A) x (B) x2 (€)= (D)~

6. | Which one of the following is not a quadratic equation? 1
(A) (x +2)% =2(x +3) (B) x 2 +3x =(- 1)(1- 3x)?
(C)x3-x2+42x +1 =(x +1)3 (D) (x +2)(x +1) =x2+2x +3

7. Given below is the picture of the Olympic rings made by taking five congruent circles 1
of radius 1cm each, intersecting in such a way that the chord formed by joining the
point of intersection of two circles is also of length 1cm.Total area of all the dotted
regions (assuming the thickness of the rings to be negligible) is

Yo
AN

~_
(A4 - 2] om? ®) -1 om?
(©) 4% - 2] cm? (D) 8% - 21 cm?

For Visually Impaired candidates

The area of the circle that can be inscribed in a square of 6 cm is

(A) 36rcm? (B) 18rcm? (C) 12mcm? (D) 9rcm?
8. A pair of dice is tossed. The probability of not getting the sum eight is 1
(A) = (B) = €)= (D)2
9. | If 2sin5x = V3 ,0°< x <90°, then x is equal to 1
(A) 10° (B) 12° (C) 20° (D) 50°

10. | The sum of two numbers is 1215 and their HCF is 81, then the possible pairs of such 1
numbers are

(A)2 (B) 3 (C)4 (D)5

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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11. | If the area of the base of a right circular cone is 51cm? and it's volume is 85cm?, then 1
the height of the cone is given as

(A)% cm (B) gcm © gcm (D) 5cm

12. | If zeroes of the quadratic polynomial ax? + bx +c (a, ¢ #0) are equal, then 1
(A) c and b must have opposite signs (B) c and a must have opposite signs
(C) c and b must have same signs (D) c and a must have same signs

13. | The area (in cm?) of a sector of a circle of radius 21cm cut off by an arc of length 1

22cm is
(A)441 (B) 321 (C) 231 (D) 221
14. | If AABC ~ADEF, AB=6cm, DE=9cm, EF=6cm and FD=12cm, then the perimeter of 1
AABC is
(A)28cm (B) 28.5cm (C) 18cm (D) 23cm

15. | If the probability of the letter chosen at random from the letters of the word 1
“Mathematics” to be a vowel is % then x is equal to

(A) = (B)- ©) = (D) :

16. | The points A(9,0), B(9, -6) ,C(-9,0) and D(-9,6) are the vertices of a 1
(A) Square (B) Rectangle (C) Parallelogram (D) Trapezium

17. | The median of a set of 9 distinct observation is 20.5. If each of the observations of a 1
set is increased by 2,then the median of a new set

(A) is increased by 2

(B) is decreased by 2

(C) is two times the original number

(D) Remains same as that of original observations

18. | The length of a tangent drawn to a circle of radius 9 cm from a point at a distance of 1
41cm from the centre of the circle is
(A)40cm (B) 9cm (C) 41cm (D) 50cm

DIRECTIONS: In the guestion number 19 and 20, a statement of Assertion (A) is
followed by a statement of Reason (R).

Choose the correct option:

(A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)

(B)Both assertion (A) and reason (R) are true and reason (R) is not the
explanation of assertion (A)

(C)Assertion (A) is true but reason (R) is false.

(D) Assertion (A) is false but reason (R) is true.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26 Page 3 Of 8



19. [ Assertion (A): The number 5" cannot end with the digit O, where n is a natural 1
number
Reason (R): A number ends with O, if its prime factorization contains both 2 and 5

20. | Assertion (A): If cosA + cos?A=1, then sinA + sin*A =1 1
Reason (R): sin®A + cos’A =1

(Section — B)
Section B consists of 5 questions of 2 marks each.
21.(A) [ The AP 8, 10, 12,....... has 60 terms. Find the sum of last 10 terms. 2
OR
(B) | Find the middle term of A.P 6,13, 20, ....... , 230
22. V3 2

If sin(A+B) =1 and cos(A — B) =
angles A and B.

Y ,0° < A,B < 90°, find the measure of

23. | If AP and DQ are medians of triangles ABC and DEF respectively, where 2
AABC~ ADEF, then prove that 2= =22
DE DQ

24. | A horse, a cow and a goat are tied, each by ropes of length 14m, at the corners A, B 2
(A) |and C respectively, of a grassy triangular field ABC with sides of lengths 35m, 40m
and 50 m. Find the area of grass field that can be grazed by them.

OR
(B) | Find the area of the major segment (in terms of m) of a circle of radius 5cm, formed
by a chord subtending an angle of 90° at the centre.

25. | A AABC is drawn to circumscribe a circle of radius 4 cm such that the segments BD 2
and DC are of lengths 10 cm and 8 cm respectively. Find the lengths of the sides AB
and AC, if it is given that ar(AABC) = 90cm?

Fa

c B

For Visually Impaired candidates:

A circle is inscribed in a right-angled triangle ABC, right angled at B. If BC=7cm and
AB=24cm, find the radius of the circle

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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(Section = C)
Section C consists of 6 questions of 3 marks each.

26. | In Figure, XY and XY’ are two parallel tangents to a 3
circle with centre O and another tangent AB with
point of contact C intersecting XY at A and X'Y' at B.
Prove that 2 AOB = 90°

For Visually Impaired candidates:

Two tangents PA and PB are drawn to a circle with centre O from an external point
P. Prove that ZAPB= 2(£0OAB)

27. | In a workshop, the number of teachers of English, Hindi and Science are 36, 60 and 3
84 respectively. Find the minimum number of rooms required, if in each room the
same number of teachers are to be seated and all of them being of the same subject.

28. | Find the zeroes of the quadratic polynomial 2x2 - (1 + 2v2) x + V2 and verify the 3
relationship between the zeroes and coefficents of the polynomial.

29. |If sin@ + cos@ = +/3 ,then prove that tan6 + cot6 =1 3
OR
Prove that $24754*T _hsecA + cotA

coSsA+sinA—1

30. | On a particular day, Vidhi and Unnati couldn’t decide on who would get to drive the 3
car. They had one coin each and flipped their coin exactly three times. The following
was agreed upon:

1. If Vidhi gets two heads in a row, she would drive the car
2. If Unnati gets a head immediately followed by a tail, she would drive the car.

Who has greater probability to drive the car that day? Justify your answer.

31.(A) | The monthly income of Aryan and Babban are in the ratio 3:4 and their monthly 3
expenditures are in ratio 5:7. If each saves % 15,000 per month, find their monthly
incomes.

OR

(B) | Solve the following system of equations graphically:
2x +y =6, 2 x —y — 2=0. Find the area of the triangle so formed by two lines and x -

axis.

For Visually Impaired candidates:

Five years hence, fathers age will be three times the age of son. Five years ago,
father was seven times as old as his son. Find their present ages.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26 Page 50f 8



(Section — D)
Section D consists of 4 questions of 5 marks each

32.

A train travels at a certain average speed for a distance of 63km and then travels at
a distance of 72km at an average speed of 6km/hr more than its original speed. If it
takes 3 hours to complete the total journey, what is the original average speed?

33.

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two
sides in distinct points, the other two sides are divided in the sameratio.

Hence in APQR, prove that a line £ intersects the sides PQ and PR of a APQR at L
and M respectively such that LM Il QR. If PL = 5.7cm, PQ=15.2cm and MR=5.5cm,
then find the length of PM (in cm)

34.(A)

(B)

From a solid right circular cone, whose height is 6cm and radius of base is 12cm, a
right circular cylindrical cavity of height 3cm and radius 4cm is hollowed out such that
bases of cone and cylinder form concentric circles. Find the surface area of the
remaining solid in terms of .

OR

An empty cone of radius 3cm and height 12cm is filled with ice-cream such that the
lower part of the cone which is (% )t of the volume of the cone is unfilled (empty) but
a hemisphere is formed on the top. Find the volume of the ice-cream.

35.(A)

(B)

If the mode of the following distribution is 55, then find the value of x. Hence, find the
mean.

Class 0—-15 15—-30 | 30—45 | 45-60

Interval
Freque
ncy

60—75 | 75-90

10 7 X 15 10 12

OR
A survey regarding heights (in cm) of 51 girls of class X of a school was conducted
and the following data was obtained:

Heights (in cm) Number of girls
less than 140 04
less than 145 11
less than 150 29
less than 155 40
less than 160 46
less than 165 51

Find the median height of girls. If mode of the above distribution is 148.05, find the
mean using empirical formula.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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(Section — E)
Section E consists of 3 case study-based questions of 4 marks each.

36. In a class, the teacher asks every student to write an example of A.P. Two boys
Aryan and Roshan writes the progression as —5, —2,1,4, ...... and 187, 184, 181, ....
respectively. Now the teacher asks his various students the following questions on
progression.

Help the students to find answers for the following:

i.  Find the sum of the common difference of two progressions. 1
ii. Find the 34™ term of progression written by Roshan. 1
iii.  (A) Find the sum of first 10 terms of the progression written by Aryan. 2

OR
(B) Which term of the progressions will have the same value? 2

37. | A group of class X students goes to
picnic during winter holidays. The ¢
position of three friends Aman, Kirti  4].....
and Chahat are shown by the points

P,QandR M
T4
I
o 9
(i) Find the distance between P and R. 1
(i) Is Q, the midpoint of PR? Justify by finding midpoint of PR. 1
(iii) (A) Find the point on x-axis which is equidistant from P and Q. 2
OR

(B)Let S be a point which divides the line joining PQ in ratio 2:3. Find the 2
coordinates of S.

For Visually Impaired Candidates:

A group of class X students goes to picnic during winter holidays. Aman, Kirti and
Chahat are three friends. The position of three friends Aman, Kirti and Chahat are
shown by the points P, Q and R.

The co-ordinates of P (2,5), Q (4,4) and R (8,3) are given.

(i) Find the distance between P and R. 1

(i) Is Q the midpoint of PR? Justify by finding midpoint of PR. 1

(iii) (A) Find the point on x-axis which is equidistant from P and Q. 2
OR

(B) Let S be a point which divides the line joining PQ in ratio 2:3. Find the 2
coordinates of S.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26 Page 70of 8



38. | India gate (formerly known as All India war
memorial) is located near Karthavya path.
(formerly Rajpath) at New Delhi. It stands
as a memorial to 74187 soldiers of Indian
Army, who gave their life in the first world
war. This 42m tall structure was designed |
by Sir Edwin Lutyens in the style of Roman
triumphal arches. A student Shreya of
height 1 m visited India Gate as a part of
her study tour.

I.  What is the angle of elevation from Shreya’s eye to the top of India Gate, if 1
she is standing at a distance of 41m away from the India Gate?
ii. If Shreya observes the angle of elevation from her eye to the top of India Gate 1
to be 60°, then how far is the she standing from the base of the India Gate?
iii.  (A) If the angle of elevation from Shreya’s eye changes from 45° to 30°, when 2
she moves some distance back from the original position. Find the distance

she moves back.

OR

(B) If Shreya moves to a point which is at a distance of %m fromthe India Gate, 2

then find the angle of elevation made by her eye to the top of India Gate.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26
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MATHEMATICS STANDARD - Code No.041
MARKING SCHEME
CLASS — X (2025-26)

Maximum Marks: 80

Time: 3 hours

Q.No. Section A Marks
1. [(C)3 1
LCM(a,b,c) = 22x3*x5x 7 = 3780
140 x 3* = 3780
3* = 27 =33
x =3
2. (A) 2 1
As shortest distance from (2, 3) to y-axis is the x coordinate, i.e., 2.
3. |(B) ke 1
3#3 hence
2 s
k#T
4, (C) 6cm 1
AB+CD=AD+BC
AB+4=3+7
AB=6cm
5 |2 1
X
1 _ (sec6—tanod) - (sec6—tanod) = secO-tan®
secO+tanb (secO+tanb)(secO6—tanb) 1
6. (D) (x +2) (x +1) =x2+2x +3, 50, x2+3 x +2=x2+2 x +3 gives x -1=0 1
I's not a quadratic equation.
7. m_ V3 2 1
D) 8[6 = ]cm
@ ;@’@
Required Area=8 x area of one segment (with r = 1cm and 6 = 60°)
=8x(i:xnx 12—£x 12)
360 4
= 8[= — ﬁ] cm2
6 4
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For Visually Impaired candidates:

(D) 9mcm?
area of circle=m(3?)
=9 cm?

(B) 2
Probability of getting sum 8 is 35—6

Probability of not getting sum 8 is %

(B) 12°

IS

sinbx =

So, 5x = 60°
And hence x = 12°

o N

10.

(C)4

Since HCF=81, the numbers can be 81x and 81y
81x +81y =1215

x+y=15

which gives four pairs as

(1,14), (2,13), (4,11), (7,8)

1.

(D) 5¢m

mrl= 51
V=§ X mr2 X h

85=§>< 51 xh

85
=—=>5cm
17

12

(D)

As for equal roots to the corresponding equation,
b2 =4ac

bZ
Hence ac = s

And hence ac > 0= ¢ and a must have same signs

13.

(C) 231

Area of sector

1
==-XIXr
2

=§x22x21 = 231cm?2
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14.

(C) 18cm
AABC ~ ADEF

AB _ BC _ AC_Perimeter of AABC
DE EF  DF Perimeter of ADEF

_ Perimeter of AABC
27

6
9

Perimeter of A ABC= 18cm

15. 9
(8)2
Probability of getting vowels in the word Mathematics is %,
2 -4
’o2x+1 11
9
=>x=-
4
16. [ (C) Parallelogram
By visualising the figure by plotting points in co-ordinate plane it can be concluded it
is a Parallelogram:
17. | (A) median is increased by 2
18. | (A) 40cm
0
41km
9em
T P
Since, tangent is perpendicular to the radius at the point of contact
In AOPT, right angled at T
OP2=0T2+TP2
412=92+TP2
TP2=1681-81=1600
TP=40cm
19. | (A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)
20. (A)
cosA+cos2A=1 --------- (i)

gives cos A= sin?A------ (ii) (using sin?A+ cos?A=1)

Substituting value of cos A from (ii) in (i)

sin2A +sin‘A=1

.. Both assertion (A) and reason (R) are true and reason (R) is the correct explanation
of assertion (A)
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(Section — B)

21.
(A)

(B)

n =60, a =8 and d=2
teo= 8 + 59(2) =126
ts1= 108

Hence te; + toy*....... + tgo= 12—0(108 +126) =1170

OR

230 =6 + (n -1)7 gives n=33
- Middle Term = t,,= 6 + (16)(7) = 118

Y2
Y2

22,

A+B =90° and A — B=30°
A=60° and B =30°

23.

A

B p ¢ E Q F
AABC~ADEF

AB _BC

DE EF

A8 2B (AP and DQ are the medians)

DE 2EQ

AB _BP

DE EQ

In AABP and ADEQ
AB _BP
DE EQ

¢+«B=2£E (AABC~ADEF)
=>AABP ~ADEQ

AB AP
Hence, — =—
DE DQ

Y2

Y2

Y2

Y2

24.(A)

area of grass field that can be grazed by them

6 0
L X 1?2 +=2
360° 360°

6
XTr2+——xmr?
360°

nr?

260° (61 + 0, + 03)
2
== % 180"

360
_ 22 14 X 14
=== x ——

7 2
=308 m?

1
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(B)

OR

Area of minor segment= Area of sector — area of triangle

Area of major segment = Area of circle — Area of minor segment
_ 5 (25 25
=5 —(—m— =)
4 2

25.

c B

Let r be the radius of the inscribed circle
BD=BE=10cm

CD=CF=8cm
Let AF=AE=x

ar(AABC) =ar(AAQOC) + ar(ABOC) + ar(AAOB)
=§xrxAC+%xprC+§xrxAB
90 =-x4 (x +8+18+x +10)

x =4.5cm
«~ AB=4.5+10=14.5cm
AC=4.5+8=12.5cm ]

For Visually Impaired candidates:

AC?=AB2+BC2= 242+72=625
AC=25cm
Area of AABC== x 7x 24=84cm? (i)
Let r=radius of circle

Also, Area of AABC== (24r+25r+7r)

=§ NG — (ii)

From (i) and (ii), we get

r=3cm

Y2

Y2

Y2

Y2

Y2
Y2

Y2

Y2
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(Section - C)

26. In AAPO and AACO
AP=AC (Tangents from External Point)
AO=AQO (common)
OP=0C (radii)
AAPO = AACO 1
2POQ=180" (PQ is the diameter)
£POA+2COA+,Q0OB+2C0OB=180° 1
2,COA+2,.C0OB=180"
<2 AOB =90° 1
For Visually Impaired candidates:
A
O
B
PA=PB (Tangents from external point to a circle)
£PAB=2PBA= x (angles opposite to equal sides) A
In APAB, ~PAB+2PBA+,APB=180°
x +x +2APB=180°
£APB=180°-2 x ------ (i) 1
Also,
£PAB+20AB=90° (radius is perpendicular to the tangent at the point of contact)
x +20AB=90°
x =90°-—20AB  -------- (i)
Substituting (ii) in (i), we get 1
£APB=180°-2(90°— 2OAB)
£APB=2,0AB e
27. HCF (36,60,84) =12 1%
Required number of rooms= 30,480,54 1
12 12 12
=3+5+7
=15 2
28. 2x2— (142V2)x + V2
=2x2—x—22x+ V2 1
=(2x—1)(x—\/2_)Hencethezeroesare%and\/?. 1
Now 2=221= 3 1ang £=2 =1y 7
a 2 2 a 2 2 1
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29. sin® + cos® = /3 gives (sin@ + cos0)? = 3. 1
Hence 1 + 2sinBcos6 =3
So 2sinBcosO = 2
= sin6 cosO =1 1
Stan 6 + cotb = — ! = 1
sin6cos6
OR
cosA—-sinA+ _ (cosA-sinA+ )(cosA+sinA+1)
cosA+sinA— (cosA+sinA—1)(cosA+sinA+ ) 1
_ cos?A+2cosA+1-sin?A 1
- 2sinAcosA
— 2cos.:4(1+cosA) — 1+.cosA = cosecA + cotA 1
2SinAcosA SinA
30. P(Vidhi drives the car) =§ as favourable outcomes are HHT, THH,HHH 1
P(Unnati drives the car) =§ as favourable outcomes are THT,THH,HTH,TTH 1
AS i > E
8 8 . . 1
Unnati has greater probability to drive the car
31. Let the income of Aryan and Babban be 3x and 4x respectively] 1
And let their expenditure be 5y and 7y respectively.
Since each saves % 15,000, we get
3x - 5y = 15000]
4x - 7y = 15000 1
Hence x = 30000
Their income thus become 90,000 and %1,20,000 respectively. 1
OR
\\\ ,-
\ g
Ay 2 for
\ ,/ correct
X%, i Graph
7 /
\/
”J" F\. 2.2y
i f "\
d-;;,u‘ll.U- \G-rJ oy
/_,r 1\ 1
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Hence, the solutionis x = 2,y = 2 Ve
Area= 2 sq. units 2
For Visually Impaired candidates
Let the present age of father be x and son be y
So, (x +5) =3(y +5) >x —3y =10 :
x—5=7y—5) =2x-7y=-30 1
So, x = 40,y = 10.
Hence the present ages of father and son are 40 years and 10 years
Respectively
Section D
32. | Let the original speed of train be x km/hr
Distance =63km, time(t1) =6x—3 hrs 1
Faster speed = (x +6) km/hr
. _72
time (t2)‘m hrs 1
Now t1 +t2 = 3 hrs
So 63 + 72 =3
x x+6 1
63(x+6) +72x =3(x+6)x
135x +378=3x2 +18x
3x2—-117x — 378 =0
x2-39x — 126 =0 1
x?2 —42x +3x — 126 = 0 gives (x +3)(x —42) =0
As x can’t be negative, so x = 42 km/hr 1
The original speed of train=42 km/hr
33. Correct given, figure and construction 2
Correct Proof 2
since LM is parallel to QR
Let PM= x
PL _PM
R %
152 x+55
x =PM=3.3cm A
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34.

Slant height of the cone L = VR2 + H2 = V122 + 62

=3v20cm Ya
Curved Surface area of cone= mRL = m X 12 x 3v/20
= (36V20) m cm? 1
Area of base circle of cone (= area of outer circle -
area of inner circle + top circular area of cylinder)
=nR? =1 x (12)?
= 1441 cm? 1
Curved Surface area of cylinder= 2nrh = 2m X 4 X 3
= 24 T cm? 1
Surface area of the remaining solid= Curved surface of cone
+ area of base circle of cone 1
+ curved surface area of cylinder
= (36V20)m + 1447 + 24n
= (168 + 36v20)m cm? 1,
2
OR
(B) Volume of cone=§nr2h: %n X 3x3%x12= 36mcm3
Volume of ice-cream in the cone=§ x 36mcm? = 30w cm3 2
Volume of ice-cream in the hemispherical part= %nr3=§r[ x3%x3x3=18m cm3 1+
Total volume of the ice-cream = (30+18m ) =48 7=150.86cm?3 (approx.) 1+
35. (A) Mode of the frequency distribution = 55
Modal class is 45-60. Lower limit is 45 Class Interval (h) =15 Y2
_ fi-r
Now, Mode = [ + (—Zfo_flifz) X h
55=45+——2>_ x5 1
30—-x—
SO, x=5 1
Cl fi Xi fixi
0-15 10 7.5 75
15-30 7 22.5 157.5
30-45 5 37.5 187.5 1%
45-60 15 52.5 787.5
60-75 10 67.5 675
75-90 12 82.5 990
59 2872.5
Mean= ¥ =222 = 48.68 1
59
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OR
(B)
Height (in cm)| Number | Class Interval | frequency
of girls
less than 140 04 135-140 4
less than 145 11 140-145 7
less than 150 29 145-150 18 1
less than 155 40 150-155 11
less than 160 46 155-160 6
less than 165 51 160-165 5
N
Median=|+(2fcf)xh 1
391
=145 + ( 218 )x5 1
=149.03
Median height = 149.03cm 1
3xMedian= Mode +2x Mean 1
3%149.03=148.05+2x Mean
Mean=149.52
Section E
36.
(i) Common difference of first progression= 3
Common difference of first progression= —3
Sum of common difference=0. 1
(i) tsa = 187 +(34-1) (—3)
So, t34 =88 1
(iii) (A) Sum = 2[2(=5) + (10 - 1)(3)] 1
= 85 1
OR
(B) =5 +(n—1)3 = 187 +(n—1) (—3)
n=33
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37. | (@)
PR=,/(8 —2)2 + (3 —5)2 =2V10 1
(i) Co-ordinates of Q (4,4). 2
The mid-point of PR is (5,4) 2
~.Q is not the mid-point of PR
(iii) (A) Let the point be (x,0)
So,J(2—x)2+25=,/(4—x)2+ 16 1
Hence x = %.Therefore the point is (%,O). 1
OR
(B) The coordinates of S will be
(2x4+3x2 2><4+3><5) 1
2+3 ' 243
— (E E)
T \s5’s 1
38. A (i) Distance from India gate = 41m,
Height of monument = 42m,
Shreya’s height =1m
So, tan g=21 =1 V2
41 . 1/2
Angle of elevation = 6 = 450,
42 m
&
B G
1m
E D
A
‘ (i) Angle of elevation =60°
Perpendicular = 41m
Let the distance from the India Gate be x m
_ 41
b Hence tfln 60°= —~ 1,
=X = 5 A
4 ac--l, 5 Shreya is standing at a distance of 413—‘/§ m
L 1m
E
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42m

YE

(i) (A)
Distance from the India Gate =41 m
Let the distance moved back be x m

Then, tan30° = —— 1
41+4x
x = (41V3 —41) m = 41(V3-1) m 1

= The distance moved back = 41(+/3-1) m

41m

42 m

OR

(B) Let the angle of elevation of be 6

Now, tan 6 = %=\/§ 1
V3
This gives 6 =60° 1
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SCIENCE - Code no. 086
SAMPLE QUESTION PAPER*
CLASS - X (2025-26)

Max. Marks: 80 Time Allowed: 3 hours
General Instructions:

(i) This question paper consists of 39 questions in 3 sections. Section A is Biology,
Section B is Chemistry and Section C is Physics.

(i) All questions are compulsory. However, an internal choice is provided in some
guestions. A student is expected to attempt only one of these questions.

Section — A Marks

Select the group in which all organisms have the same mode of nutrition. 1
A. Cuscuta, yeast, legumes, leeches and tapeworm
B. Cactus, ticks, lice, leeches and cow
C. Cuscuta, ticks, lice, leeches and tapeworm
D. Cactus, grass, lice, lion and tapeworm

Which of the following options indicates the products formed after breakdown 1
of the glucose in our muscle cells when there is lack of oxygen?
A. Ethanol + carbon dioxide + Energy
B. Lactic acid + Energy
C. Lactic acid + carbon monoxide + Energy
D. Carbon dioxide + Water + Energy

Which of the following is a correct combination of function and part of the 1
brain?

A. Posture and balance: Cerebrum

B. Salivation: Medulla in midbrain

C. Hunger: Pons in hindbrain

D. Blood pressure: Medulla in hindbrain

The blood glucose level in a patient was very high. It may be due to 1
inadequate secretion of:
A. growth hormone from pituitary gland
B. oestrogen from ovary
C. insulin from pituitary gland
D. insulin from pancreas

In a cross between black furred rabbit (B) and white furred rabbit (b), all 1
offspring were found to have black fur. What can be inferred about the genetic
makeup of the parent rabbits?

A. BB X bb

B. Bb XBb

C. Bb X bb

D. bb X bb

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




6 Which are the correct statements related to ozone? 1
(i) Ozone layer helps in increasing the UV radiations reaching earth.
(i)  Ozone is a deadly poison.

(i)  Ozone layer shields the earth from UV radiations.

(iv)  Ozone layer prevents UV rays which cause skin cancer.

(v) Ozone is formed with the help of Chloroflurocarbons.

A. (i), (i), (iii)
B. (i), (iii), (iv)
C. (iii), (iv), (v)
D. (i), (iv), (v)

7 Which of the following human activities has resulted in an increase of non- 1
biodegradable substances?
A. Organic farming
B. Increase in tree plantation
C. Use of plastic as packaging material
D. Composting of kitchen waste

The following two questions consist of two statements — Assertion (A) and Reason (R).
Answer these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, and R is not the correct explanation of A.
C. Aistrue but R is false.

D. Ais false but R is true.

8 Assertion (A): Tallness of a pea plant is controlled by an enzyme. 1
Reason (R): The gene for that enzyme makes proteins which help the plant to
be tall.

9 Assertion (A): Vulture will always have the least amount of pesticides in a food 1
chain.

Reason (R): Vulture occupies the last trophic level and it gets only 10% of
energy of the previous trophic level.

10 | Unlike animals, plants do not have any excretory products as they do not eat 2
food. Comment upon the statement with justification.

11 | Students to attempt either option A or B. 2

A. How many chambers are there in the heart of the following organisms?
How is mixing of oxygenated and deoxygenated blood prevented in their
body?

(i) Fishes
(i) Humans

OR
B. Explain the mechanism by which the water is transported in plants?

12 | About 100 acres of forest land was declared as Natural reserve park. The 2
following organisms were predominant in the Natural reserve park:

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




rabbit, frog, grass, fish, fox, water insects, zebra, peacock, snake, trees, bird,
owl, insects, tiger, vulture, duck.

Create a food web comprising two separate food chains with different
producers by using the above data.

13

Draw and explain how the nerve cells help in transmission of impulses?

14

In a genetic experiment, plants with pure round green seeds (RRyy) were
crossed with plants with wrinkled yellow seeds (rrYY).
(i) Show the gametes formed when F1 was self-pollinated.
(i) A total of 144 seeds were produced which developed into saplings.
Show the ratio in which these traits are independently inherited in
thesel44 sapling.

15

Neha consumed boiled sweet potatoes and boiled eggs for breakfast. Help her
to understand some steps in the process of digestion of the food taken by her
by answering the questions given below.

Attempt either subpart A or B.

A. Which of these food items is rich in proteins? In which part of the
alimentary canal is the digestion of this component initiated? Name the
enzymes, conditions required and the glands associated with the
digestion here.

OR

Which of these food items contains fats? How is it digested?

. Which of these food items is rich in starch? How is its digestion initiated?
The figure given below represents parts of the human alimentary canal.
Which of these parts will have the maximum amount of digested food as
soon as the process of digestion is completed?

O0w®

Figure: Human Alimentary canal

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




For visually impaired students

D.

How will the digested food be taken up by the alimentary canal?

16 | Attempt either option A or B.
A. Puneet wanted to grow banana plants.
(i) Based on your knowledge on plant reproduction should he opt for seeds
or any alternate method of reproduction. Justify your answer.
(i) Offsprings of a banana plant usually show very little variation. What
causes variation and are variations good or bad? Justify.
OR
B. Annie was conducting research on the number of fruits produced by
watermelon under different conditions. She grew 25 watermelon plants
each in both glass house A and B. She introduced pollinators in glass
house A only.
() What difference will she observe in the number of fruits produced in the
two glass houses? Explain with reason.
(if) List 3 changes that will occur in a flower once it gets fertilized.
Section - B
17 | Which of the following equations represent redox reactions and what are the

values for ‘p’ and ‘q’ in these equations?

Equation 1. Fe20s3(s) + 2Al(s) — Al20s3 (s) + p Fe(l) + heat
Equation 2: 2C4H10(g) + 1302(g) —2—» 8CO2(g)+ q H20(Q)

. Only equation 1 is a redox reaction, p =1 and g=3

. Both equations 1 and 2 are redox reactions, p= 2 and q=4

A

B

C. Only equation 2 is a redox reaction, p= 2 and g= 10

D. Both equations 1 and 2 are redox reactions, p= 2 and q=10

18

Four statements about the reactions of oxides with dilute hydrochloric acid and
agueous sodium hydroxide are listed.
l.

Which statements are correct?

Aluminium oxide reacts with both dilute hydrochloric acid and aqueous
sodium hydroxide.

Calcium oxide reacts with dilute hydrochloric acid and aqueous sodium
hydroxide.

Zinc oxide reacts with both dilute hydrochloric acid and aqueous sodium
hydroxide.

Sulphur dioxide does not react with either dilute hydrochloric acid or
aqueous sodium hydroxide.

A. land Il
B. land lll
C. lland IV
D. lll and IV

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




19 | An iron nail is added to each of the two test tubes ‘P’ and ‘Q’ containing
agueous copper (Il) sulphate, and aqueous silver nitrate respectively. Which of
the following observation is correct?

A. Intesttube ‘P’ iron nail is coated with a blue coating and in test tube ‘Q’
there is no reaction.

B. lron nail is coated with a brown coating in test tube ‘P’ and silver coating
in test tube ‘Q’.

C. There is no reaction in either of the test tubes ‘P’ or ‘Q’.

D. There is no reaction in test tube ‘P’ but a silver coating on iron nail is
seen in test tube ‘Q’.

20 | Methyl orange is added to dilute hydrochloric acid and to aqueous sodium

hydroxide. What is the colour of the methyl orange in each solution?

Sample colour in dilute colour in aqueous
hydrochloric acid sodium hydroxide
A Orange Red
B Red Yellow
C Red Orange
D Yellow Red

21 | Which of the following substances when dissolved in equal volume of water,
will have the highest pH value? 1
A. Sulphuric acid
B. Acetic acid
C. Magnesium hydroxide
D. Sodium hydroxide

22 | When excess of carbon dioxide is passed through lime water, the milkiness
disappears because 1
A. water soluble calcium carbonate converts to water soluble calcium
bicarbonate.
B. insoluble calcium carbonate converts to water soluble calcium
bicarbonate.
C. water soluble calcium carbonate converts to
bicarbonate.
D. insoluble calcium carbonate converts to insoluble calcium bicarbonate.

insoluble calcium

23 | In the reaction of aqueous solution of barium chloride with aqueous solution of 1
sodium sulphate, the aqueous solution formed will be:
A. BaClz
B. BaSOs
C. Na2S0Oq4
D. NacCl

The following question consists of two statements — Assertion (A) and Reason (R). Answer
these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, and R is not the correct explanation of A.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




C. Aistrue but R is false.
D. Ais false but R is true.

24

Assertion (A): CsHs, CsHs and CsHi0 are members of the same homologous
series

Reason (R): Cs4Hs, CaHs, CsHs4, CsHs, C2H4, C2H2 are unsaturated
hydrocarbons.

25

The following activity is set-up in the science lab by the teacher.

He clamped an aluminium wire on a stand and fixed a pin to the free end of
the wire using wax. Then he heated the wire with a burner from the end where
the wire is clamped. Students observed the pin fall off.

Jew= Vrec end of wue
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A. If the teacher replaces aluminium wire by silver wire, will the students’
observation change? Justify your answer.
B. Will the aluminium wire melt? Give reason for your answer.

26

Attempt either option A or B.

A. An element ‘X’ is stored in kerosene, and cannot be extracted from its ore
using a reducing agent. ‘X’ forms an ionic compound on reaction with
chlorine.

(i) Can we store ‘X" in water? Give reason to support your answer.
(ii) ldentify element ‘X’. Name the process used and write the equation for
extraction of ‘X’ from its ore.
OR

B. The domes of many building in Europe are made of copper. These domes
now appear greenish in colour.

() Why do the domes appear greenish though copper is orange-red in
colour?

(if) In your opinion, should the copper domes be replaced by iron domes to
overcome the problem of change of colour of copper domes?

(iii) Domes used to be made from thin sheets of metals. Why did the ancient
architects use copper to make domes?

27

Amrita electrolysed distilled water using the set-up shown in figure 1. She was
expecting two gases to be evolved at the anode and cathode respectively

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




Fig.1
Suddenly, she realised that the bulb in the circuit did not glow when she used

distilled water (figure 2)
i Bulb
| ||| @_

Baltery |I

Corduring
Wire

distilled water

Fig. 2

After this realization, she added a substance to the distilled water for
electrolysis to take place.

Answer the following questions based on the information given above:

A. Which gas was she expecting to be formed at the anode and which one
at the cathode respectively?

B. Why did the bulb not glow when Amrita passed electricity through
distilled water?

C. Which substance was added by Amrita to distilled water to get the
expected result?

For visually impaired students

Identify the type of reaction:

A. ZnO+C ——* Zn+CO
B. ZnCO3 heat | ZnO + CO2
C.2Mg+02 _______, 2MgO + heat

Sara took 2 mL of dilute NaOH solution in a test tube and added two drops of
phenolphthalein solution to it. The solution turned pink in colour. She added
dilute H2SO4 to the above solution drop by drop until the solution in the test
tube became colourless. 40 drops of dilute H2SO4 were used for the change in

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




colour from pink to colourless. When Sara added a drop of NaOH to the
solution, the colour changed to back to pink again.

Sara now tried the activity with different volumes of NaOH and recorded her
observation in the table given below:

S. No. Volume of dil. Drops of dil.
NaOH taken (mL) H2S04 used

1 2 20

2 3 30

3 4 40

Answer the following questions based on the above information:

A. If Sara used concentrated H2SOu in place of dilute H2SO4, how many drops
will be required for the change in colour to be observed?
(@) 40
(b) <40
(c) >40

Justify your answer.

B. Sara measured 20 drops of dil. H2SO4 and found its volume to be 1 mL. If
Sara observed a change in colour of NaoH solution by using 3 mL of
H2S0O4, how many mL of NaOH did she add to the test tube initially?

OR
Sara takes 10 drops of dilute H2SOa4 in the test tube and adds two drops of
phenolphthalein solution to it. Then she adds NaOH dropwise. Sara
observes a change in colour after adding 20 drops of NaOH. What change
in colour would she observe and why?

C. Write a balanced chemical equation for the reaction taking place in the
above experiment. Which of the following is true and why? The reaction is
a
(a) neutralisation and double displacement reaction
(b) neutralisation and precipitation reaction
(c) precipitation and double displacement reaction
(d) neutralisation, double displacement as well as precipitation reaction.

29

Attempt either option A or B.

A. A hydrocarbon with the formula CxHy undergoes complete combustion as
shown in the following equation:
2CxHy + 902 — 6CO2 + 6H20.
(@) What are the values of ‘X’ and ‘y’?
(b) Give the chemical (IUPAC) name of the hydrocarbon.
(c) Draw its electron dot structure.
(d) Name the alcohol which on heating with conc. H2SO4 will produce the
above hydrocarbon CxHy.

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




(e) Write a balanced chemical equation for the reaction of CxHy with
hydrogen gas in presence of Nickel.

OR
B. The electronic structures of atoms P and Q are shown below

O,

Based on the information given above, answer the following questions:

(@) If P and Q combine to form a compound, what type of bond is formed
between them?

(b) Give the chemical formula of the compound formed.

(c) The compound so formed is dissolved in water. Is the resultant solution
acidic or basic in nature? Justify your answer.

(d) Write the chemical equation for the reaction between ‘Q’ and ethanol.

(e) What will be the formula of the compound formed when ‘P’ undergoes
bonding with carbon?

For visually impaired students

A. A hydrocarbon with the formula CxHy undergoes complete combustion as
shown in the following equation:

2CxHy + 902 — 6CO2 + 6H20.

(a) What are the values of X’ and ‘y’?
(b) Give the chemical (IUPAC) name of the hydrocarbon.
(c) Is CxHy a saturated or an unsaturated hydrocarbon?
(d) Name the alcohol which on heating with conc. H2SO4 will produce the
above hydrocarbon CxHy.
(e) Write a balanced chemical equation for the reaction of CxHy with
hydrogen gas in presence of Nickel.
OR
B. Oxygen can combine with both metals and non-metals. It combines with
Calcium to form CaO and with carbon to form COa.
(a) What type of bond is formed between carbon and oxygen?
(b) Identify the type of bond formed between Calcium and oxygen.
(c) Which of the above compounds will be a good conductor of electricity
in molten state and why?
(d) Comment on the physical state (solid, liquid or gas) of CaO and CO..
(e) What is the valency of carbon in CO2?

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




Section - C

30 Arnav was making notes and he wrote down the following statements from his 1
understanding of reflection from curved surfaces.
I.  Concave mirrors can produce both real and virtual images depending on
the position of the object.
Il.  Convex mirrors always produce real, inverted images regardless of the
object’s position.
lll. In both concave and convex mirrors, the image location can be

. . . 1 1,1 .
determined using the mirror formula? = + there fis the focal length,

Vv is the image distance, and u is the object distance.
Choose from the following the correct option that lists the correct statements
about reflection from curved surfaces.

A. landll
B. I, lland IlI
C. lland Il
D. land Il
31 | Choose the correct option from the below which explains the reason for us to 1

perceive the day sky as blue.

A. As sunlight passes through the atmosphere, shorter wavelengths, such
as blue are scattered more than other colors.

B. The sky appears blue because all colors are scattered equally, but
blue light is stronger and more visible to the human eye.

C. The blue color of the sky is due to longer wavelengths like red and
orange scattering more than shorter wavelengths, making blue stand
out more.

D. The atmosphere contains blue-colored particles that give the sky its
blue appearance.

The following question consists of two statements — Assertion (A) and Reason (R). Answer
these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, and R is not the correct explanation of A.
C. Aistrue but R is false.

D. Ais false but R is true.

32 [ Assertion (A): A point object is placed at a distance of 26 cm from a convex 1
mirror of focal length 26 cm. The image will not form at infinity.

Reason (R): For above given system the equation % = % +% gives v = o,

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session
i.e. 2025-26.




33

10cm e
20cm

The above image shows the formation of an image with an optical instrument.
A. ldentify the optical instrument (shown schematically as a rectangle) in

the image.
B. What type of image is formed in this case?
C. Based on the measurements given in the image, calculate the focal

length of the instrument.
For visually impaired students

A. Under what conditions can a convex lens form a virtual image?
B. Why does a piece of paper catch fire if we allow sunlight to pass
through a convex lens onto the paper?

34

Attempt either option A or B.

A.
4()
A—/ MWW 8
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Find out the following in the electric circuit given in the figure-
(i) Effective resistance of two 8 ohm resistors in the combination.
(i) Current flowing through the 4-ohm resistor

OR

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.
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Study the circuit and find out-
(i) Currentin 12 ohm resistor
(ii) Difference in the readings of ammeter A1 and Az if any

For visually impaired students
A. You are given four resistors each having resistance of R ohm. Find the
maximum and minimum resistance that can be made with these four

resistors.

OR
B. A copper wire has a length L=2 m, a cross-sectional area A=0.5 mm?, and
resistivity p=1.7x10-8 Q-m. Calculate the resistance of another wire made

of the same material whose length is twice the length of the wire but has
the same cross-sectional area.

35

The above image shows a corrective measure for a particular defect of vision.
() Identify the defect of vision and state what kind of lens is used to correct

this deficiency.
(i) Draw and label a ray diagram that shows the defect of vision in the above

case before correction.

For visually impaired students
() What is dispersion of light?

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




(i) Explain the condition under which dispersion happens?
(i) Give one reason that causes preshyopia.

36

A student needs to make a 0.12 Q resistor. She has some copper wire of 0.80
mm diameter. Resistivity of copper is 1.8 x 108 Qm

(i) Determine the cross-sectional area of the wire.

(i) Calculate the length of wire required for the 0.12 Q resistor.

37

Magnetic field lines are shown in the given diagram. A student makes a
statement that the magnetic field at X is stronger than at Y.
(i) Explain with reason if the student’s claim is correct.
(i) Also redraw the diagram and mark the direction of magnetic field lines.
Y

38

AN 0O-—TO0

The above image is that of a Digital Single Lense Reflector (DSLR) Camera
which are used to take high resolution photographs by professional
photographers. The second image of the above two is a schematic diagram of
how an image is formed on the sensor of the camera. Based on your
understanding of the lenses, answer the following questions.

A. What type of lens is used in the DSLR camera shown in the image?
B. What type of image is formed on the sensor?
Attempt either subpart C or D.

C. A photographer is using a DSLR camera with a lens of focal length
f=50 mm to take a close-up photograph of a small object. The lens
projects an image onto the camera sensor that is located 60 mm behind
the lens. Calculate the object distance (i.e., the distance between the
object and the lens).

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




OR

D. A photographer is using a DSLR camera to take a picture of a flower.
The flower is positioned 150 mm away from the camera lens. The actual
height of the flower is 80 mm, and the image height formed on the
camera’s sensor is measured to be 20 mm. Calculate the focal length of
the camera lens.

For visually impaired students

Zarina worked as an apprentice in a factory where flashlights and solar cookers
are made. She learnt to make the circuits, the design of the light-box and light
concentrators of the solar cookers as well. She learnt the uses of lenses in
making all those tools. Based on your understanding of lenses, answer the
following questions.

A. What kind of lenses are used in the flashlight and light concentrator of the
solar-cooker?

B. Give reasons for your choices in your answer for part A.
Attempt either subpart C or D.

C. An object is placed 40 cm away from a lens which is normally used in a
solar-cooker. The image formed is twice the size of the object. Calculate
the focal length of the lens.

OR

D. An object is placed 20 cm in front of a lens which is used in a flashlight,
and the image is formed 10 cm away from the lens on the same side as
the object. Calculate the focal length of the lens.

39

Attempt either option A or B.
A.

)

HH

250 —I
1000} _]
1250 }
©

The arrangement of resistors shown in the above figure is connected to a
battery.;
The power dissipation in the 100 Q resistor is 81 W. Calculate

0] the current in the circuit

(i) the reading in the voltmeter V2

(i) the reading in the voltmeter V1

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.
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An electric heater consists of three similar heating elements A, B and C,
connected as shown in the figure above. Each heating element is rated as 1.2
kW, 240 V and has constant resistance. S1, Sz and Sz are respective
switches.
The circuit is connected to a 240 V supply.
(1) Calculate the resistance of one heating element.
(i) Calculate the current in each resistor when only Si1 and Sz are
closed.
(i)  Calculate the power dissipated across A when Si1, S2and Sz are
closed.

For visually impaired students

A.

(i) Explain why in household circuits only the fuse is connected in series
with all the rest of the appliances but all appliances are connected in
parallel to each other.

(i) In a household circuit, an electric heater of power 1500 Wand a fan of
power 500 W are connected in parallel to a 220 V supply. A fuse rated
for 10 A is connected to the circuit to protect it from excessive current.
(@) Calculate the total current drawn by the heater and the fan.

(b) Determine whether the 10 A fuse is appropriate for this circuit or
if it will blow.

OR
B. Two resistors, R1=6 Q and R2=12Q, are connected in parallel to a 24V
battery. The circuit operates for 5 minutes.
(i) Calculate the total heat generated in both resistors.
(i) If each resistor has a power rating of 100 W, determine whether it is safe
to use these resistors in the circuit.

*kkkkkkkkkk

*Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session

i.e. 2025-26.




SCIENCE - Code no. 086
MARKING SCHEME
CLASS — X (2025-26)

Section — A

1 C. Cuscuta, ticks, lice, leeches and tapeworm; as all of these are parasites.
2 B. Lactic acid + Energy
3 D. Blood pressure: Medulla in hindbrain
4 D. insulin from pancreas
S A. BB x bb
6 B. (ii), (iii), (iv)
7 C. Use of plastic as packaging material.
8 A. Both A and R are true, and R is the correct explanation of A.
9 D. Ais false but R is true
10 It is completely wrong to say that plants do not produce any excretory

products.

However, plants use completely different strategies for excretion than those

of the animals. They get rid of these wastes in different manner (any two):

i. Oxygen, a photosynthetic waste, is removed through stomata.
ii. Excess water is removed by transpiration through stomata.
iii.  Other metabolic wastes are either stored in dead cells, resins and
gums or are removed through falling of old leaves.

iv. Many waste products are stored in cellular vacuoles

11 Students to attempt either option A or B.

A.

(i) There are two chambers in the heart of fish. The blood is pumped to
the gills, is oxygenated there and passes directly to the rest of the
body.

(i) There are four chambers in the heart of a human being. Separation
of the right side and the left side of the heart by septum prevents
mixing of oxygenated and de-oxygenated bloods

OR

B. Xylem moves water and minerals obtained from the soil through roots to
all other parts of the plant in a unidirectional manner// Transpiration
takes place from leaf which causes a transpirational pull in the tracheids
and vessels of xylem facilitating upward movement of water// roots




actively uptake ions from the soll, leading to difference in concentration
gradient, thereby water moves into the roots to eliminate this difference/
creating a steady movement of water into root xylem.

12 Tree food chain- tree, zebra, tiger /Any other food chain
Grassland food chain- grass, zebra, tiger / Any other food chain
Food web- Join the two food chains at a common point (zebra)

13 e Allinformation from our environment is detected by the specialised tips
of some nerve cells. The information acquired at the end of the dendritic
tip of a nerve cell (Fig. a), sets off a chemical reaction that creates an
electrical impulse.

e This impulse travels from the dendrite to the cell body, and then along
the axon to its end. At the end of the axon, the electrical impulse sets off
the release of some chemicals.

e These chemicals cross the gap, or synapse, and start a similar electrical
impulse in a dendrite of the next neuron. This is how nervous impulses
travel in the body. (Fig b).

Nucleus
—3 Mitochaondrion
()
Figure () Structure of ricwror. () Naewrornnuescular fuoctiont
14 |A. RY, Ry, rY,ry
B. The traits which are independently inherited are as follows
Tall round: 81
Tall wrinkled: 27
Short round: 27
Short wrinkled: 9
(Ratio:-9:3:3:1)
15 Students to attempt either subpart A or B.

A. Eggs are rich in proteins. The digestion of proteins is initiated in the
stomach. Gastric glands present in the wall of the stomach release




hydrochloric acid, a protein digesting enzyme called pepsin and mucus.
The hydrochloric acid creates an acidic medium which facilitates the
action of enzyme pepsin.

OR

B. Eggs contain fats. Bile juice from the liver breaks down large fat globules

into smaller ones for increasing the efficiency of the enzymes and making
the medium alkaline. Emulsified fats are digested by lipase secreted by
pancreas.

C. Sweet potatoes are rich in starch. The saliva secreted by salivary glands

present in buccal cavity contain an enzyme called salivary amylase that
breaks down starch which is a complex molecule to give sugar.

D. Small Intestine will have a maximum amount of digested food as the

process of digestion is completed in the small intestine.

For Visually impaired students

D. The digested food is taken up by the inner lining of the intestine with the
help of finger-like projections or villi which increase the surface area for
the absorption.

16 Student to attempt either option A or B.

(i) Puneet should not choose seeds as banana plants have lost the
capacity to produce seeds. He should go for vegetative propagation
of banana (by stem cutting).

(i)  Errors and variations in DNA copying cause variation.

Variation is good as it can help a population tide over unfavourable
conditions by survival of some variants.
It is bad as parents’ desirable characters are lost/ sometimes variants
are not able to survive in the new conditions/ the variant is not able to
use the cellular apparatus efficiently.

OR

() Watermelon has unisexual flowers, the male and female flowers are

separate.
The presence of pollinators will facilitate cross pollination between the
flowers increasing the chance of fertilization and number of fruits
being produced. Without pollinators the probability of pollen falling on
stigma reduces in a unisexual flower, especially if they are far apart
thus the number of fruits produced will be less.

(i)  The three changes observed are:

e Ovule develops a tough coat and becomes seed.
e Ovary grows and ripens to form fruit.
o Petals, sepals, stamen, style and stigma may shrivel and fall off.
Section - B
17 D. Both equations 1 and 2 are redox reactions, p= 2 and g=10
18 | B. (1) and (lll)




19 B. Iron nail is coated with a brown coating in test tube ‘P’ and silver coating
in test tube ‘Q’.
20 B. Red Yellow
21 D. Sodium hydroxide
22 B. insoluble calcium carbonate converts to water soluble calcium
bicarbonate.
23 D. NaCl
24 D. Ais false but R is true
25 |A. The pin will drop but will take less time to drop because silver is a better
conductor of heat than aluminium.
B. No, aluminium wire will not melt because metals have high melting points.
26 Attempt either option A or B.
A.
(i) No, X is highly reactive and will catch fire.
(i) Sodium.
It is extracted from molten sodium chloride by electrolytic
reduction
Cathode: Na*+e” > Na
Anode: 2CI" > Clz2 + 2e
(Potassium is also a correct option)
OR
B.

(i) Copper gets oxidised/corroded to basic copper carbonate which is
greenish in colour.

(i) No, iron will rust and the reddish layer of rust will come off exposing
iron to air, the dome will not be stable. Copper on the other hand on
corrosion forms a protective layer which does not allow further
corrosion.

(iif) Copper is a highly malleable metal, its thin sheets can be used to
give different shapes of roofs, like the shape of a dome.

27 A. She was expecting Oxygen gas to be formed at the anode and hydrogen

at the cathode.

B. Distilled water is a poor conductor of electricity.

C. Adding few drops of H2SOs4 or some NaCl (or any other strong
electrolyte).

For visually impaired students
A. Redox reaction




Decomposition reaction and endothermic reaction
Combination reaction and exothermic reaction

28

> 0w

(b) < 40, because concentrated H2SO4 gives more H+ ions than dilute
acid.
3 mL of H2SO4 will be 60 drops, which will neutralise 6 mL of NaOH

S. No. Volume of dil Drops of dil
NaOH taken (mL) H2S04 used

2 20 (1 mL)

3 30 (1.5mL)

4 40 (2 mL)

6 3 mL = 60 drops

w

AIWINPEF

OR
Colour will change from colourless to pink. Phenolphthalein in

colourless in acids and turns pink in basic solution.

C. 2NaOH + H2S0O4 = Na2S04 + 2H20
(a) neutralisation and double displacement reaction.
Base NaOH is getting neutralised and forming salt + water. It is
double displacement as Na* ions are being replaced by H* and OH"
by SO4?. It is not precipitation reaction because Na2S0a is soluble in
water.

29

Student to attempt either option A or B.

A.
@x=3,y=6
(b) Propene
© H H
by b 4
CiiC s
b
H
(d) Propanol
(e) CaHe + H2 N, CsHs _
CH2=CH-CHsz + Ho —=% CHs-CHz-CHs3
OR

axH

Lx:ex T

(a) lonic bond

(b) Q2P

(c) Basic, metallic oxides are basic in nature.
(d) 2C2Hs0OH +2Q - 2C2Hs0Q + H2

(e) CP2

For visually impaired students

A.
(@x=3,y=6




(b) Propene
(c) Unsaturated hydrocarbon
(d) Propanol
(e) CaHs + H2 N, CsHs
OR

(a) Covalent bond

(b) lonic bond

(c) CaO, due to presence of free ions in molten state.
(d) CaO is solid while COz is a gas.

(e) 4
Section - C
30 D.land Il
31 A. As sunlight passes through the atmosphere, Rayleigh scattering causes
shorter wavelengths, such as blue and violet, to scatter more than other
colors, but our eyes are more sensitive to blue than violet.
32 C. Alis true but R is false
33 A. The optical instrument shown in the figure is a concave lens.

B. The image formed is a virtual image.
C. To find the focal length for of a concave lens, we can use the lens

formula:
N (S
f v u
where:
e u=-20cm (object distance, taken as negative for concave

lenses),
e v =-10cm (image distance, also taken as negative since the
image formed by a concave lens is virtual).

Solution:

1. Substitute the values into the lens formula:

% 1

f —10 —20
2. Simplify the terms:

% 1

f —10 —20
3. Find a common denominator:

1 2 1 1

F7 2 "2 20

4. Solve for f:
f=-20cm




For visually impaired students

A. A convex lens can form a virtual image when the object is placed
between the lens and its focal point.

B. A convex lens can focus parallel rays of sunlight to a single point,
known as the focal point. Sunlight contains energy, and when this light
is concentrated at a small point, the energy density increases
significantly. This focused light energy raises the temperature at the
focal point, which can become high enough to ignite a piece of paper
placed at that point.

34

Student to attempt either A or B.

A.
(i)
R RiR, _8><8_4 N
“ R, +R, 8+g oM
(i1)
I—V— 8 =14
R (444
OR
B.
(i
1 1+ 1 1+ 12
Re R, R, 24 24 24
Rp =12 ohms
Rt= Rp+12 = 24 ohms
|74
I=Z=2=0254
R 24

(i) Same readings of A1 and Az

For visually impaired students

A.

() Maximum Resistance:

e To get the maximum resistance, connect all four resistors in
series.

e The total resistance Rmax in series is the sum of the individual
resistance;:
Rnl(i)I:R+R+R+R:4R

(i) Minimum Resistance:

e To get the minimum resistance, connect all four resistors in
parallel.




e The total resistance Rminin parallel is given by:
1 4 .41.%1.3 #
Ry B R R R R
R
Rmin =R
4
OR
B.
= ot
=

Given:
o Initiat length,! = 2m
o Cross-sectional area, A = 0.5 mm?* = 0.5 x 10 %m?
 Resistivity of copper, p = 1.7 x 109 -m
Step 1: Calculate the initial resistance Riand [ =2 m
_prl 17%x10°Q-m X 2m

By A 0.5 x 10-5m?
3.4 x10°% o

Step 2: Calculate the new resistance R2and | = 4 m (double length)

fﬁ:p f”ﬁ2th:2x0mBQ:0J%Q

The resistance of the wire when the length is double is 0.136 Q

35

() Hypermetropia is the deficiency in vision and the lens is convex lens.

(ii)

N N’

For visually impaired students
(i) Dispersion of light is the phenomenon in which white light separates into

its component colors (spectrum) when it passes through a medium, such
as a prism. Different colours of light lend through different angles with

respect to incident light, thus becoming district.




(i) Dispersion occurs when light passes from one medium to another where
the speed of light is different for each wavelength. For example, in a
prism, each color of light has a different refractive index due to varying
wavelengths, causing each color to bend at different angles as they exit
the prism. Dispersion only happens if the medium has a variable
refractive index across different wavelengths, like glass or water.

(i) Presbyopia is caused by the gradual loss of flexibility in the lens of the
eye, which occurs with aging. This reduced flexibility prevents the lens
from changing shape effectively to focus on close objects, making it
difficult to see them clearly.
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(i)  Show that the cross-sectional area of the wire is about 5 x 10" m?. 3
The cross-sectional are A of a wire with diameter d is given by:

d\?*
A w (5)

Substitute, d = 0.80 x 103 m:
0.80 x 103 *
A= ( ?: )

A= (0.40 x 10 ?)?
A =7 x (0.16 x 107%) m?
A=~ 3.14 < 0.16 x 10 % m?
A =~ 5.024 510 " m?

Thus, the cross-sectional are A is approximately 5 x 10" m2.
(i)  Tofind the length [ of the wire, we can use the formula of

resistance:
p-l
Rz =—<
A
Rearrange to solve for [ :
R-A
| =
p
Substitute the values:
fue 0.12-5x 1077
T 1.8x10-8
- 6x10°°
1.8 x 108
6
l =
¥
l=3.33m

The student needs a length of approximately 3.33 m of given copper wire to
make a 0.12 Q resistor.




e Closeness of magnetic field lines is directly related to strength of

37 o
magnetic field.
e Strength of magnetic field at point X (pole) is more than point Y.
e |If the student redraws the diagram he/she should mark arrows correctly
from North to South.
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A. Convex Lens
B. Real and Inverted

Student to attempt either subpart C or D.

C. To find the object distance (u) for the lens, we can use the lens formula:

1 1 1
f - o - 1
where:

e f=50mm (focal length),

e v =60mm (image distance),

e U is the object distance, which we need to calculate.
Rearranging the formula to solve for u:

1_1 1
u v f
Substitute the values:
¥ 4 i
u o0 50

Calculate each term:
1 50—-60  —10 1

u 3000 3000 300

Thus, the negative sign indicates that the object is located 300 mm in
front of the lens (on the opposite side from the image). So, the object
distance is:

u =300 mm
OR

D. image height = - 20 mm
object height = 80 mm
The magnification (m) of the lens is given by:

image height
M= — ——— -
object height

Substituting the values:
—20mm _ 1

M= 80mm 4




Thus, the magnification m = — 0.25 mm.

Magnification is also given by:

L)
m= —
1
where:
e Vv is the image distance
e u= —150mm

Rearrange to solve for v:
v=mxu=-0.25x%x-150mm = 37.5mm

So, the image distance v = 37.5 mm.

The lens formula is:

1 1 1
f v u
Substituting the values of v and u:
N
f 375 ' 150

Converting to a common denominator:
1 4+1 5 1

f 150 150 30

Thus, f =30 mm
Answer: The focal length of the camera lens is 30 mm.

For visually impaired students

A. Concave Lens for Flashlight and Convex Lens for solar cooker.

B. Concave lens diverges the light rays which is needed for a wider reach
of the flashlight. Convex lens converges the rays which helps to raise
the temperature of the place where rays converge.

Student to attempt either subpart C or D

C. To find the focal length (f) of the lens, we can use the information
about the object distance (u) and the magnification (m).
Given:
e Object distance, u = — 40 cm
e The image is twice the size of the object, so the magnification,
m=-—2
Since the magnification m = 5 we can rearrange this to find the image

distance v:
v=mXu




Substitute the values for m and u:
v=—2x—40=80cm
The lens formula is :

1 1 1
f v u
Substitute v = 80 cm and u = — 40 cm:
1 1 1 1 1

FT8 —40 80 40

Convert to a common denominator:
1 B 142 B 3

f~ 80 80

Thus,
8

f= ?O = 26.67 cm (approximately)

Answer : The focal length of the lens is approximately 26.67 cm.

OR

e Object distance, u =- 20 cm
¢ Image distance v = - 10 cm (since the image is on the same side as

the object)
We can use the lens formula to calculate the focal length (f) :
1 1 1
f v u
Substitute the values of v and u :
1 1 1 1 1

= + —
FT 10 —20 —10 " 20

Finding a common denominator:
1 -2 1 1

f_20+20_ 20

Thus,

f = —-20cm

Answer: The focal length of the lens is - 20 cm, indicating it is a
diverging lens (concave lens).
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Students to attempt either option A or B.

A.
(i) Power across the 100 (Q resistance = 81 W
P=1I?R =81W
, 81

~ 100
9
o]l = |=— == =094
10




(i) Voltage across the 25 Q resistors = V2 = IReqv

for the 25 () resistors
1 1 1 2

Ry 25 25 25
“ Regy = = = 12.50
~V,= 094 x125Q = 11.25V

(i) Voltage across 100 Q =V,50 = IR = 094 x100Q = 90V
~ V=90V + 11.25V = 101.25V

OR
B.
(i P ="
L Vi _20x2e0 o
P 1200

(i) For S1 and Ss closed
— Currentin C

V = IR (Ohm's Law)

— Current in A and B
V = IR (Ohm's Law)

I_V_240V_25A
TR 960 7

(iii) Power across A for Si1, Sz, Sz closed
P, = I?’R = 52 x48 = 1200W = 1.2KW

For visually impaired students

A.

() In household circuits, the fuse is connected in series with all

appliances to ensure that it can cut off the entire circuit in case of
excessive current, preventing hazards like fires or damage. This way,
any overload or short circuit causes the fuse to blow, protecting all
appliances.
Appliances are connected in parallel to ensure each receives the
same voltage from the mains and can operate independently. This
setup allows appliances to work simultaneously and efficiently, with
each drawing only the current it needs, without affecting others.

Give Data:
e Power of heater, Pneater = 1500 W
e Power of Fan, Pfan =500 W




e Supply Voltage, V =220V
e Fuserating=10A

Step 1: Calculate the Current Drawn by Each Appliance
Using the formula = I= {3:
1. Current drawn by the heater:
= Rl(’ﬁ!i‘!‘ . 1500 W

Iheater — V == 290 V
Iheater = 6.82 A (rounded to two decimal places)

2. Current drawn by the fan:
_ Prgn  500W

lran = Vv 220V

ltan=2.27 A (rounded to two decimal places)
Step 2 : Calculate the total curent in the circuit

Since the heater and fan are connected in parallel, the total curent
liotal IS the sum of the currents through each appliance:

Itotal = Ihcatcr ) Ifzm
Lo = 6.82A+2.27A

Itotul =9.09A

Step 3: Compare with the Fuse Rating
The fuse is rated for 10 A, and the total current drawn by the
heater and fan together is 9.09 A.

Since 9.09 A < 10 A, the fuse will not blow and is appropriate for
this circuit, as the total current is within the fuse’s capacity.
OR
B.
Given data:
e ResistorR1=6Q
e ResistorR2=120Q
e VoltageV =24V
e Timet=>5 Minutes =5 x 60 = 300 seconds

Step 1: Calculate the Current through each Resistor

Since the resistors are connected in parallel, the voltage across
each resistor is the same as the battery voltage, V =24 V.

Using Ohm’s Law, [= ‘ﬁ




Current through R:

I[ = ET Ff_:'- — 1A
Current through R2:
V24V
I. —_— — T e—
R, 120 4

Step 2: Calculate the Heat Generated in Each Resistor
Using Joule’s Law of Heating, H = I?Rt:

e Heat generate in Ru1:
H=EFxR xt=(4A)"x60x300s
H, =16 x 6 x 300 = 28800 J
e Heat generate in Rz:
Hy=I xRy xt=(2A)* x 12Q x 300s
Hy =4 x12 x 300 = 14400J
e Total Heat Generated H:
Hia1 = Hy + H = 28800J + 14400 J = 43200 J
So, the total heat generated in both resistor is 43200 J.

Step 3 : Determine if each Resistor is safe
The power dissipated by each resistor can be calculated using P =V x|

e Power dissipated by R1 :
Po=VxL =24V x4A=9W
e Power dissipated by R>:
Po=VxL=24Vx2A=48W

Given that the power rating of each resistor is 100 W:
e Riis operating at 96 W, which is within the 100 W limit. Hence, it is

safe.
e R2is operating at 48 W, which is also within the 100 W limit. Hence,

it is safe.
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SOCIAL SCIENCE-Code- 087
SAMPLE QUESTION PAPER
CLASS: X (2025-26)

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

1. There are 38 questions in the Question paper. All questions are compulsory.

2. The question paper has Four Sections — A-History, B-Geography C- Political Science, and D-
Economics.

3. Each Section is of 20 Marks and has MCQs, VSA, SA, LAs and CBQ.

4. Very Short Answer Type Questions (VSA), carry 2 marks each. Answers to each question should
not exceed 40 words.

5. Short Answer Type Questions (SA), carry 3 marks each. Answers to each question should not
exceed 60 words.

6. Long answer type questions (LA), carry 5 marks each. Answers to each question should not
exceed 120 words.

7. There are case based questions (CBQ) with three sub questions and are of 4 marks each.
Answers to each question should not exceed 100 words.

8. The map-based questions, carry 5 marks with two parts- Q9. In Section A-History (2 marks) and
Q19. In Section B -Geography (3 marks)

9. There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions must be attempted.

10. In addition to this, NOTE that a separate question has been provided for Visually Impaired
candidates in lieu of questions having visual inputs, map etc. Such questions are to be attempted
by Visually Impaired candidates only.

Sr.No SECTION A Marks
HISTORY (20 marks)
1. Match the following and Choose the correct option: 1

COLUMN | COLUMN I

A | Frederic Sorrieu 1 | Torch of enlightenments

B | Statue of Liberty 2 | Shattered remains of absolutist

Institutions
C | Foreground in front of the Statue 3 Democratic and Social
of Liberty Republics
D | Sorrieu’s utopian vision. 4 French Artist

1.A-4,B-1, C-2, D-3
2.A-2,B-4, C-4, D-1
3.A-1, B-2, C-4, D-3
4.A-4,B-1, C-3, D-4

1
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2. Identify and name the leader shown in the picture given below: - 1

I source-India and the Contemporary World-1l, NCERT

A. Lala Lajpat Rai

B. Bal Gangadhar Tilak
C. Gopal Krishan Gokhale
D. Raja Rammohan Roy

Note: The following question is for Visually Impaired Candidates only in lieu of
Q. No. 2

Which one option from the following is the appropriate reason for the formation of the
Swaraj party?

A. To ask for Poorna Swaraj for Indians.
B. To return to Council Politics.

C. To ask Dominion State for India.

D. To oppose Simon Commission.

3.  Thousands of people fled Europe for America in the 19th century due to - 1

A. Widespread poverty and deadly diseases

B. Frequent famines and poor living conditions
C. Continuous wars and political instability

D. Harsh climate and repeated natural disasters

4. Louise-Sebastien Mercier proclaimed “Tremble, therefore, tyrants of the world! 1
Tremble before the virtual writer!” Who are referred to as the tyrants in this context?

A. Educated classes who wanted to change the society
B. Absolutist institutions like monarchy and church

C. Authors of the new books

D. Printing press

2
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5A. “The Silk route was a good example of vibrant pre-modern trade and cultural links 2
between distant parts of the world.” Explain the statement with any two examples.

OR

5B. ‘Sometimes the new crops could make the difference between life and death.’.
Explain the statement.

6 A. ‘A variety of cultural processes played an important role in developing a sense of 3
nationalism in India’. Support the statement with suitable examples.

OR

6 B. Salt March 'became an effective tool of resistance against colonialism.” Justify the
statement with suitable arguments.

7A. ‘In Britain the formation of the nation-state was not the result of a sudden upheaval 5
or revolution but was the result of a long-drawn-out process.” Analyze this statement
with suitable reasons.

OR

7/B.  ‘The Treaty of Vienna was drawn up in 1815 with the object of undoing most of the
changes that had come about in Europe during the Napoleonic wars.’ Highlight the
significant provisions of this treaty.

8. Read the given text and answer the following questions:(1+1+2=4) 4
Why Newspapers?
Krishnaji Trimbuck Ranade inhabitant of Poona intends to publish a Newspaper in
the Marathi Language with a view of affording useful information on every topic of
local interest. It will be open for free discussion on subjects of general utility, scientific
investigation and the speculations connected with the antiquities, statistics,
curiosities, history and geography of the country and of the Deccan especially... the
patronage and support of all interested in the diffusion of knowledge and Welfare of
the People is earnestly solicited.
Bombay Telegraph and Courier, 6 January 1849

"The task of the native newspapers and political associations is identical to the role
of the Opposition in the House of Commons in Parliament in England. That is to
critically examine government policy to suggest improvements, by removing those
parts that will not be to the benefit of the people, and also by ensuring speedy
implementation.

These associations ought to carefully study the particular issues, gather diverse
relevant information on the nation as well as on what are the possible and desirable

improvements, and this will surely earn it considerable influence”.
Source: Native Opinion, 3 April 1870

8.1. Explain the main reason for publishing newspapers by Krishna ji.

3
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8.2. How was the task of native newspaper and political association seen identical
to the role of the opposition?

8.3. Analyze the reasons for the popularity of newspapers during the 19th century.

MAP SKILL-BASED QUESTION (2 marks)

9. Two places A and B have been marked on the given outline map of India. Identify  (1+1=
them and write their correct names on the lines marked on the map. 2)

A) The place where the Civil Disobedience Movement was launched.
B) The city where Indian National Congress session was held in September
1920.

Note: The following question is for Visually Impaired Candidates only in lieu of
Question 9.

A) The place where the Civil Disobedience Movement was launched.

B) The place where Indian National Congress session was held in September 1920

SECTION B
GEOGRAPHY (20 marks)

10. What is essential for resource development to contribute to overall development? 1

A. The availability of resources alone is enough.

B. The presence of foreign invaders and their governance.
C. Technological development and institutional changes.
D. Only human resources can contribute to development.

11. Identify the appropriate option to fill in the empty boxes: 1

Classification of Soils

Alluvial ? ?

Ideal for the growth of sugarcane, paddy, | ldeal for suitable for crops
wheat and other cereal and pulse crops. | growing cotton like cashew nut.

Black soil, Red and Yellow soils
Laterite soil, Black soil.

Red & Yellow soils & Black soil.
Black soil & Laterite soil.

00wy

12. Atotal of 628 tigers died in India during the past five years due to natural causes and 1

4
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other reasons, including poaching, according to government data. Meanwhile, 349
people were killed in tiger attacks during this period, with Maharashtra alone
recording 200 deaths.

[source: https://www.ptinews.com/slorv/nalionaI/628-tiqers-died—in-india—in-pasl-five-vears»qovt»data/1685133t/]

Which of the following is the most significant indirect consequence of poaching on
the tiger population?

A. Reduction in the prey species, dwindling tiger's food supply.
B. Increase in human-wildlife conflicts in protected areas

C. Rise in the tiger population.

D. Decrease in tourism revenue in national parks

13. Based on the classification of forests, which of the following statements would most 1
likely apply to states like Jammu and Kashmir, Andhra Pradesh, and Kerala?

A. These states mostly have forests managed as reserved or protected forests for
conservation.

B. They rely on unclassed forests and local community management for forest
conservation.

C. They have forest resources and primarily focus on industrial development.

D. There are no classified forests and forest management is entirely left to private
ownership.

14.  Which one of the following states has made roof top water harvesting compulsory in 1
India?

A. Haryana
B. Punjab

C. Assam

D. Tamil Nadu.

15.  Which of the following statements best evaluates the overall goal of the Pradhan 1
Mantri Krishi Sinchaee Yojana?

A. Addressing the negative ecological effects of large dams by reducing water usage.

B. To provide better irrigation systems and sustainable water conservation practices
for farmers.

C. Shifting farmers from traditional crops to more commercial, water-intensive crops.

D. Preserve the natural river flow and prevent the fragmentation of aquatic
ecosystems.

16. Rice is grown as a commercial crop in Haryana and Punjab, but as a subsistence 2
crop in Odisha. Using your understanding of geographical factors and economic
practices, explain why rice cultivation differs in these regions.

17A. Person P is willing to establish a mineral based industry. He has been advised to set 5
up a bauxite industry in Odisha as a suitable way to make a profitable venture.
Analyse the possible reasons behind the advice given to her.

OR

5
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17B. ‘Coal is the most important and abundant fossil fuel in India.” Justify the statement
by evaluating the significant role it plays in the growth of the Indian economy in its
different forms.

18. Read the given text and answer the following questions:(1+2+1=4) 4

Global pollution is rising due to rapid economic growth, population increases, and
insufficient environmental management. This poses serious health risks for people
and ecosystems, particularly in low- and middle-income countries. Contributing to
these challenges, the global economy relies on deeply intertwined supply chains,
sustained by more than 100 billion tons of raw materials entering the system each
year. Intensive material consumption depletes natural resources and causes
negative environmental impacts at every stage of the product lifecycle. Global waste
is expected to increase to 3.4 billion tons by 2050.

Pollution of all types hinders development outcomes. Exposure to air pollution, water
pollution, and hazardous chemicals and wastes like mercury, lead and persistent
organic pollutants (POPs) causes debilitating and fatal illnesses, creates harmful
living conditions, and destroys ecosystems. Pollution undermines sustainable
economic growth, exacerbates poverty and inequality in both urban and rural areas,
and significantly contributes to climate change. Poor people, who cannot afford to
protect themselves from the negative impacts of pollution, end up suffering the most.
Pollution is the largest environmental cause of disease and premature death. It is
estimated to be several times more deaths than from AIDS, tuberculosis, and malaria
combined. Global health crises, such as the COVID-19 pandemic, are reminders of
the strong linkages between environment and health and of the need to address such
Iinkages systematically. [Source: https://www.worldbank.org/en/topic/pollution]

18.1 Why do you think is global waste expected to increase by 20507

18.2 How do manufacturing industries cause pollution of different types? Explain with
examples.

18.3 Is it correct to consider pollution as a possible cause for worsening of the current
global trends of poverty and inequality? Justify.

MAP SKILL-BASED QUESTION (3 marks)

19. Onthe same outline map of India locate and label the following with suitable symbols: 1

l.(p) The dam in the Sutlej-Beas river basin, which is being used both for hydel
power production and irrigation.
OR
(9) The dam in the Mahanadi basin that integrates conservation of water with
flood control.

Il. Any two of the following: (1x2=
(i) A major sea port in West Bengal 2)

6
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(i) An international airport in Tamil Nadu
(ii) An international airport in Punjab

Note: The following question is for Visually Impaired Candidates only in lieu of
Q. No. 19.

b) Answer any three of the following:

i Name the dam in the Mahanadi basin that integrates conservation of water
with flood control.

il Specify the name of a major sea port in West Bengal.

iii Name an international airport in Tamil Nadu.

iv State the name of an international airport in Punjab.

SECTION C
POLITICAL SCIENCE (20 marks)

20.  Which of the following statement(s) are true with respect to the ethnic composition of 1
Belgium?
I. 59 percent of the total population of Belgium lives in the Wallonia region and
speaks French.
Il. 40 percent live in the Flemish region and speak Dutch.
[ll. One percent of the Belgians speak German.
IV. In the capital city Brussels, 80 percent people speak French while 20 per cent
are Dutch speaking.

Choose the correct option:

A. land Il
B. Il and IV
C. I, lland Il
D.land IV

21. The cartoon below depicts Germany’s government that was formed after the 2005 1
elections. It included the two major parties of the country, namely the Christian
Democratic Union and the Social Democratic Party. The two parties are historically
rivals to each other. Which of the following options best explains the cartoon?

Tab- The Calgary Sun, Cagle Cartoons Inc.

Source-Democratic Politics, NCERT
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A. Coalition Government.
B. Two Party System.

C. Democratic government.
D. Bi-party system.

Note: The following question is for Visually Impaired Candidates only in lieu of
Q. No. 21

Consider the following statements on Power Sharing and choose the correct
statement(s) -
I.  Imposing the will of the majority community over others.
[I. It helps in reducing the possibility of conflict between the social groups.
lll.  Power Sharing is a good way to ensure the stability of political order.
IV. It brings socio- political opposition among parties.

Choose the correct option:

A. landll
B. land Il
C. lland IV
D. Il and 1l
22. Consider the following case and choose the correct option- 1

Suppose the Government of India plans to issue new currency notes of different
denominations in order to curb the influence of black money. The Government of one

state is opposed to this policy of the Central Government. Can the state government
stop the union government from implementing this policy?

A. Yes, because Currency is the subject of State List
. No, because Currency is a subject of Union List

Yes, because the approval of both the governments is necessary to implement

B

C.
this change.

D. No, because any such change must be approved by the local government also.

23.  Two statements are given as Assertion (A) and Reason(R). Study the statements 1

carefully and identify the correct alternative:

ASSERTION (A): Exclusive attention to caste can produce negative results in
democracy.

REASON (R): It can divert attention from other important issues thus leading to
tensions, conflicts and even violence.

Choose the correct option:
A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, but R is not the correct explanation of A.
C. Aistrue but R is false.
D. Alis false but R is true

8
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24.  Highlight any two key features of federalism. 2

25. ‘Women in India face discrimination, disadvantages and oppression in many ways.’ 2
Highlight any two aspects of life where you witness this inequality.
26.  ‘Democracy leads to peaceful and harmonious life among citizens in every sphere.’ 3
Support this statement with suitable arguments.
27A. ‘Political parties play a significant role in the effective working of a democracy.” 5
Explain.
OR

27B. ‘The challenge of dynastic succession is undoubtedly a major challenge for political
parties in India.” Analyse the statement’.

28. Read the given text and answer the following questions:(1+1+2=4) 4

Sri Lanka emerged as an independent country in 1948. The leaders of the Sinhala
community sought to secure dominance over government by virtue of their majority.
As a result, the democratically elected government adopted a series of
MAJORITARIAN measures to establish Sinhala supremacy. Over the years, it
created feelings of alienation among the Sri Lankan Tamils. They felt that none of
the major political parties led by the Buddhist Sinhala leaders was sensitive to their
language and culture. As a result, the relations between the Sinhala and Tamil
communities strained over time. On the other hand, the Belgian leaders took a
different path. They recognised the existence of regional differences and cultural
diversities. Between 1970 and 1993, they amended their constitution four times to
work out an arrangement that would enable everyone to live together within the same
country. Source-Adapted from Power Sharing, NCERT

28. 1 State any two demands of Tamils in Sri Lanka.
28. 2 State the results of the Majoritarian Government in Sri Lanka.

28. 3 Explain any two provisions of the Belgian model of power sharing.

SECTION D
ECONOMICS (20 marks)

29. Underemployment is caused when - 1

A. More workers are employed than actually required
B. Fewer workers are employed than actually required
C. Workers are paid more than their actual output

D. Jobs are given only to highly educated workers

9
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30. What can be inferred about the limitations of using per capita income (average 1

income) to compare well-being across countries? Choose the correct option as the
answer.

A. It shows how equally or unequally income is distributed among the people in a
country.

B. The only measure needed to understand a country’s development is Per capita
income.

C. It gives a basic idea of economic well-being but hides the income inequality.

D. It only reflects the industrial growth of a country and does not consider other
important factors.

31. Which of the following examples best demonstrates how the tertiary sector supports 1
both the primary and secondary sectors?

A. Farmers grow vegetables and sell them directly to consumers, with no
transportation or storage involved.

B. A factory makes shoes and uses raw materials like leather to create the product,
relying on transport and retail stores to distribute the shoes.

C. A bakery bakes bread and uses delivery services to send the bread to local
shops for sale, without any direct involvement of raw materials.

D. A company produces furniture from wood, but does not require any transport or
retail services to sell the product.

32.  Which one of the following issues currency notes in India? 1

A. Finance Ministry.

B. Reserve Bank of India.
C. State Bank of India.

D. Central Bank of India.

33. Person Z tries to explain how the requirement of a double coincidence of wants in a 1
barter system limits trade and exchange. Which of the following justification do you
think will be used by him/her?

A. It makes trade more complicated, as each person must have what the other
person wants, limiting the pool of potential trade partners.

B. The barter system allows trade to be conducted more efficiently since both parties
already know what they need from the transaction.

C. It increases the number of exchanges because each person can trade for exactly
what they want.

D. The system creates value for goods by ensuring that both parties have a direct
need for each other’s goods.

10
Please note that the assessment scheme of the Academic Session 2024-25 will continue in the current session i.e. 2025-26



34. Recognize and choose the option that correctly matches the effects and consequent 1
outcomes of globalization.

Column A Column B

(Effects of globalisation) (Outcomes)

1.Increased foreign investment |i. Expansion of global markets and access to

technology

2.Cultural exchange and ii. Loss of traditional jobs due to automation and
awareness cheaper labor elsewhere

3.Techonological exchange iii. Spread of cultural practices, ideas, and values
and awareness across borders

4.Growth of multinational iv. Large companies becoming dominant players
corporations in global markets

Choose the correct option:
A. 1-iii, 2-ii, 3-i, 4-iv
B. 1-iv, 2-ii, 3-i, 4-ii
C. 1-ii, 2-iv, 3-iii, 4-i
D. 1-i, 2-iii, 3-ii, 4-iv

35. Evaluate the utility of public services in contributing to the overall well-being of 3
individuals and society.

36. ‘Expanding access to loans in the formal sector is important, yet it is equally critical 3
that these loans are accessible to all people for national development.” Justify the
statement.

37. Highlight the significant three factors that have contributed to the growth of 3
globalisation.

38A. Aresearch student spoke with two people, M and N to learn about their work-related 5
differences. On the basis of the interview conducted with both of them, the student
concludes that while person M was working in an organized sector, person N was an
employee of a workplace that was functioning in an unorganised way. Analyse the
key differences between the two sectors that must have enabled the research
student to come to this conclusion.

OR

38B. Privatisation can have both positive and negative effects on the economy. Support
the statement with argument.

11
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MARKING SCHEME
SOCIAL SCIENCE (087)
CLASS-X (2025-26)

Time Allowed: 3hrs Max. Marks:80
SECTION A
HISTORY (20 marks)
1 1- A4, B-1,C-2,D-3 1
2 B- Bal Gangadhar Tilak 1

V.l candidates —
B - To return to Council Politics

3 A - Widespread poverty and deadly diseases 1

4 B - Absolutist institutions like monarchy and church 1

5A. | 1. Chinese pottery, textiles and spices from India and Southeast Asia also travelled 2
the same route. In return, precious metals - gold and silver - flowed from Europe to
Asia.

2. Trade and cultural exchange went hand in hand. Buddhism from India spread
in several directions through intersecting points on the silk routes.

3. Early Christian missionaries travelled this route to reach Asia and Muslim
preachers took the same route a few centuries later. (Any 2 points)

OR

5B. | 1. Sometimes new crops like potatoes could make the difference between life and
death. It was with the introduction of the humble potato that Europe’s poor began
to eat well, eat better and live longer.

2. Ireland’s poor peasants became so dependent on potatoes that when the
potato crop was destroyed by disease in the mid-1840s, hundreds of thousands of
peasants died of starvation

6A. | 1. Figure or Image — The identity of India came to be visually associated with the 3
image of Bharat Mata. This image was created by Bankim Chandra Chattopadhyay.
Rabindranath Tagore painted his famous image of Bharat Mata. In this painting,
Bharat Mata is portrayed as an ascetic figure; she is calm, composed, divine and
spiritual.

2. Songs — Bankim Chandra Chattopadhyay wrote ‘VandeMataram’ as a hymn to
the motherland. It was included in his novel Anandmath and widely sung during the
Swadeshi Movement in Bengal.

3. Folklore — Indian folklore was revived. In late-nineteenth-century India,
nationalists began recording folk tales sung by bards and they toured villages to
gather folk songs and legends. These tales gave a true picture of traditional culture.
It helped to restore a sense of pride in our past. In Bengal, Rabindranath Tagore
himself began collecting ballads, nursery rnymes and myths, and led the movement




for folk revival. In Madras, Natesa Sastri published a massive four-volume collection
of Tamil folk tales, The Folklore of Southern India.

4.— Flag (A). During the Swadeshi movement in Bengal, a tricolour flag (red, green
and yellow) was designed. It had eight lotuses representing eight provinces of
British India, and a crescent moon, representing Hindus and Muslims.

(B). By 1921, Gandhiji had designed the Swaraj flag. It was again a tricolour (red,
green and white) and had a spinning wheel in the centre, representing the Gandhian
ideal of self-help. Carrying the flag, holding it aloft, during marches became a
symbol of defiance.

5. Re —interpretation of History — Indians began looking into the past to discover
India’s great achievements. They wrote about art and architecture, Science and
Maths, religion and culture, law, philosophy etc. Indians were asked to take pride in
India’s great achievements in the past and struggle to change the miserable
conditions of life under British rule. (Any three points to be considered)

OR

6B.

1. Salt became an effective tool of resistance against colonialism because of the
following reasons: Gandhiji found in salt a powerful bond that would unite the
nations as it — was consumed by all rich and poor alike.

2. Gandhiji’s letter to Viceroy Irwin stated eleven demands. Most of them were of
general interest but the most stirring was to abolish the salt tax imposed by the
colonial government.

3. Irwin’s unwillingness to negotiate forced Gandhiji to start his salt March which
was joined by thousands. It developed the feeling of nationalism.

4. People in different parts of the country broke salt law and manufactured salt and
demonstrated in front of government salt factories.

5. People unitedly followed Gandhiji’'s words. They refused to pay taxes, revenues,
picketed liquor shops, boycotted foreign clothes, resigned from government jobs
and violated forest laws. (Any three points to be considered)]

TA.

1. In Britain the formation of the nation-state was not the result of a sudden upheaval
or revolution. The primary identities of the people who inhabited the British Isles
were ethnic ones - such as English, Welsh, Scot or Irish.

2. The Act of Union (1707) between England and Scotland resulted in the formation
of the 'United Kingdom of Great Britain' meant that England was able to impose its
influence on Scotland. Scotland's distinctive culture and political institutions were
systematically suppressed.

3. The Scottish Highlanders were forbidden to speak their Gaelic language or wear
their national dress and large numbers were forcibly driven out of their homeland.
4. The English helped the Protestants of Ireland to establish their dominance over
a largely Catholic country. Catholic revolts against British dominance were
suppressed. Ireland was forcibly incorporated into the United Kingdom in 1801.

5. The symbols of the new Britain - the British flag, the national anthem, the English
language were actively promoted and the older nations survived only as
subordinate partners in this union.

OR




7B

1. The Bourbon dynasty, which had been deposed during the French Revolution,
was restored to power, and France lost the territories it had annexed under
Napoleon.

2. A series of states were set up on the boundaries of France to prevent French
expansion in future. Thus the kingdom of the Netherlands, which included
Belgium, was set up in the north and Genoa was added to Piedmont in the south.

3. Prussia was given important new territories on its western frontiers, while Austria
was given control of northern Italy.

4. The German confederation of 39 states that had been set up by Napoleon was
left untouched. In the east, Russia was given part of Poland while Prussia was
given a portion of Saxony.

5. The main intention was to restore the monarchies that had been overthrown by
Napoleon, and create a new conservative order in Europe.

8.1 Krishnaji wanted to publish significant information about societal developments
in the areas of politics, science, and other fields in order to inform the public.

8.2 The media used to criticise and analyse government policies were local
newspapers and political organisations. As a result, both of these served as the
government's opposition.

8.3 Reasons for popularity of newspapers during 19th century are:

i. The political developments in the country began to interest a sizable portion of
society, and this information was skillfully presented in the newspapers.

ii. Newspapers started to serve as a source for societal advancements in social,
cultural, and scientific

(1+1+
2=4)

Marked on the map.
(Answers to the questions for the V.l candidates are also the same-though only
naming of the locations is required.)

(1+1=

SECTION B
GEOGRAPHY (20 marks)

10.

C - echnological development and institutional changes.

11.

D - Black soil & Laterite soil.

12.

A. Reduction in the prey species leading to the tiger's dwindling food supp

13.

A - These states have a significant portion of forests managed as reserved or
protected forests for conservation.

14.

D — Tamil Nadu

15.

B - To provide better irrigation systems and sustainable water conservation
practices for farmers.

16.

Climate and Irrigation:

e Haryana and Punjab have a well-developed irrigation system (e.g., canal
irrigation from the Sutlej-Yamuna Link Canal), which allows for large-scale

3




commercial cultivation of rice. The climate is suitable for high-yielding
varieties, and irrigation ensures water availability.

e In contrast, Odisha has a more monsoonal climate, and while rice is grown,
the farming is often rainfed and primarily for local consumption. The lack of
large-scale irrigation systems limits its commercialization.

Economic Factors (Market Access):

e In Punjab and Haryana, rice is grown for commercial purposes to meet
national and international demand. The proximity to markets, government
procurement systems, and well-developed transport networks enable these
states to export surplus rice.

e In Odisha, rice is mostly grown for personal or local use, with less access to
large markets for profit-driven farming, making it a subsistence crop.

Farming Practices:

e In Punjab and Haryana, the use of modern farming techniques, machinery,
and high-yielding varieties supports commercial rice cultivation.

e In Odisha, rice farming is more traditional and focused on family
sustenance rather than large-scale production, which reflects the
subsistence nature of cultivation.

Or any other relevant point(s) (Any 2 point to be considered out of which at least
one should be related to climate and one economic)

17A. | 1. Odisha was the largest bauxite producing state in India in 2016-
17. Panchpatmali deposits in Koraput district are the most
important bauxite deposits in the state.

2. Aluminium is an important metal because it combines the
strength of metals such as iron,
3. It is a good alternative to other metals due to its extreme
lightness and
4. also has good conductivity and
5. great malleability (any other relevant point - 5 points)
OR
17B. | Significance:

-It is used for power generation,

-To supply energy to industry as well as for domestic needs.

-India is highly dependent on coal for meeting its commercial energy
requirements.e.g., in metallurgy

- any other relevant point (at least 2)

Variety of coal types-

Coal, is found in a variety of forms depending on the degrees of compression and
the depth and time of burial.




1. Peat - Decaying plants in swamps produce peat. Which has a low carbon and
high moisture contents and low heating capacity.

2. Lignite - is a low grade brown coal, which is soft with high moisture content. The
principal lignite reserves are in Neyveli in Tamil Nadu and are used for
generation of electricity.

3. Bituminous coal-Coal that has been buried deep and subjected to increased
temperatures. It is the most popular coal in commercial use. Metallurgical coal
is high grade bituminous coal which has a special value for smelting iron in blast
furnaces.

4. Anthracite -is the highest quality hard coal.

18.

18.1 Due to intensive material production and consumption.
18.2 Manufacturing industries are a major cause for-

1) air pollution — Smoke is emitted by chemical and paper factories, brick kilns,
refineries and smelting plants, and burning of fossil fuels in big and small factories
that ignore pollution norms. Toxic gas leaks can be very hazardous with long-term
effects.

2) Water pollution is caused by organic and inorganic industrial wastes and
affluents discharged into rivers. The main culprits in this regard are paper, pulp,
chemical, textile and dyeing, petroleum refineries, tanneries and electroplating
industries that let out dyes, detergents, acids, salts and heavy metals like lead
and mercury pesticides, fertilisers, synthetic chemicals with carbon, plastics and
rubber, etc. into the water bodies.

3) Thermal pollution of water occurs when hot water from factories and thermal
plants is drained into rivers and ponds before cooling.

4) Dumping of wastes specially glass, harmful chemicals, industrial effluents,
packaging, salts and garbage renders the soil useless.

5)Rain water percolates to the soil carrying the pollutants to the ground and the
ground water also gets contaminated.

6) Industrial and construction activities, machinery, factory equipment, generators,
saws and pneumatic and electric drills also make a lot of noise. (Or any other
relevant point) — Any two points

18.3 Poor people, cannot afford to protect themselves from the negative impacts
of pollution, end up suffering the most. This also leads to social disparity/inequality
due to the ill effects of poverty. (Can be explained with the help of an example)

(1+2+
1=4)

19.

Marked on the map.
(Answers to the questions for the V.l candidates are also the same-though only
naming of the locations is required.)

(1+2=

SECTION C
POLITICAL SCIENCE (20 marks)

20.

A-1land Il

21.

A — Coalition Government.
V.l candidates — D. Il and Il




22.

B - No, because Currency is a subject of Union List

23.

A - Both A and R are true, and R is the correct explanation of A.

24,

Features of federalism:

1. There are two or more levels (or tiers) of government.

2. Different tiers of government govern the same citizens, but each tier has its own
jurisdiction in specific matters of legislation, taxation and administration.

3. The jurisdictions of the respective levels or tiers of government are specified in
the constitution. So the existence and authority of each tier of government is
constitutionally guaranteed.

4. The fundamental provisions of the constitution cannot be unilaterally changed
by one level of government. Such changes require the consent of both the levels
of government.

5. Courts have the power to interpret the constitution and the powers of different
levels of government. The highest court acts as an umpire if disputes arise
between different levels of government in the exercise of their respective
powers.

6. Sources of revenue for each level of government are clearly specified to ensure
its financial autonomy.

7. The federal system thus has dual objectives: to safeguard and promote unity of
the country, while at the same time accommodate regional diversity. Therefore,
two aspects are crucial for the institutions and practice of federalism.
Governments at different levels should agree to some rules of power sharing.
They should also trust that each would abide by its part of the agreement. An
ideal federal system has both aspects: mutual trust and agreement to live
together. (Any two point to be considered)

25.

1. Education — Literacy rate among women is only 54% as compared with 76%
among men. Parents prefer to spend their resources for their sons’ education rather
than daughters.

2. Low Proportion of women in highly paid and valued jobs — Women still have
a small share in the highly paid jobs. Even if a woman works for more hours than a
man, her work is not given importance. This results in low paid and low valued jobs
for women.

3. Women are paid less than men — Despite the Equal Wages of Act women are
paid less than men, even when both do exactly the same work.

4. Preference for Son — In many parts of India parents prefer to have sons and
find ways to have the girl child aborted before she is born. This has led to decline
in child sex — ratio (927)

5. Exploitation at workplace and domestic violence — Women are exploited and
harassed at the workplace. They have to face different forms of domestic violence
at home. (Any 2 point to be considered)




26.

1. Democracies accommodate various social divisions. For example, Belgium has
peacefully solved her ethnic problems and solved the differences.

2. All democracies usually develop a procedure to conduct competition, i.e. conduct
elections, power-sharing, etc. This reduces the possibility of tensions, due to social
divisions, turning violent or explosive.

3. Democracy teaches people to respect the differences and resolve conflicts
among different groups peacefully. In non-democratic countries, rulers either turn a
blind eye to or suppress internal differences. For example, Sri Lanka. The plus point
in democratic regime is the ability to handle social differences, divisions and
conflicts.

4. A democracy is not just a rule by majority opinion. The majority always needs to
work with the minority so that the government represents the general view.

5. A democratic government ensures that the rule by the majority does not become
autocratic in terms of religion, race or linguistic group etc. It tries to show that in
every election, different persons and groups can form a majority. It tries to see that
every citizen has a chance to be in majority at some point of time and is not barred
on the basis of birth. All these things ensured by a democratic regime lead to a
peaceful and harmonious life. (Any three points to be considered)

27A

Political parties play a significant role in the effective working of a democracy. To
fill political offices and exercise political power, political parties are needed to
perform a series of functions, which are the following

1. Parties contest elections. Elections are fought mainly among candidates put up
by political parties.
In India, top party leaders choose candidates for contesting elections.

2. Parties put forward different policies and programmes. Political parties in a
democracy group together similar opinions, to provide a direction in which
government policies can be formulated.

. Parties make laws for a country. Laws are debated and passed in the legislature.

. Parties that lose elections play the role of the opposition. Opposition parties voice
their views by criticizing the government for its failure or wrong policies.

5. Parties shape public opinion. They raise and highlight issues and resolve

people’s problems. Many pressure groups are the extensions of political parties.

6. Parties provide people access to government machinery and welfare schemes.

For an ordinary citizen it is easier to approach a local party leader than a
government officer. (Any 5 points)

W

OR

27B

1. Most political parties do not practice open and transparent procedures for their
functioning. So there are very few ways for an ordinary worker to rise to the top
in a party.

2. Those who happen to be the leaders are in a position of unfair advantage as
they favour people close to them or even their family members.

3. In many parties in India, we see a trend of dynastic succession. The top positions
are always controlled by members of a particular family, which is unfair to other




members of the party, and bad for democracy.
4. This is so because people who do not have adequate experience or popular
support come to occupy positions of power.
5. More than loyalty to party principles and policies, personal loyalty to the leader
becomes more important. This tendency is seen all over the world, even in older
democracies.

28. |28.1- (1+1+
(a) To recognise Tamil as official language 2=4)
(b) Regional autonomy
(c) Equality of opportunities in securing education and jobs.
(Any one to be considered)
28.2- The Majoritarian Government in Sri Lanka created a distrust between Tamils
and Sinhala communities which resulted in civil war. As a result, thousands of
people of both communities were killed and many families were forced to leave the
country as refugees.
28.3
1. The Constitution prescribed that the number of Dutch and French Any two
speaking ministers shall be equal in the central government.
Some special laws require the support of majority of members
from each linguistic group. Thus, no single community can make decisions
unilaterally.
2. Many powers of the central government have been given to state governments
of the two regions of the country. The state governments are not subordinate to the
Central Government.
3. Brussels has a separate government in which Dutch and French have equal
representation.
4. Apart from the Central and the State Government, there is a third kind of
Government. This ‘community government' is elected by people belonging to one
language community - Dutch, French and German - speaking - no matter where
they live. This government has the power regarding cultural, educational and
language - related issues. (Any two to be considered)
SECTION D
ECONOMICS (20 marks)
29. | A - More workers are employed than actually required 1
30. | C - Itgives a basic idea of economic well-being but hides the income inequality, 1
cost of living, or access to essential services.
31. | B - Afactory makes shoes and uses raw materials like leather to create the product, 1

relying on transport and retail stores to distribute the shoes.




32.

B — Reserve Bank of India

33.

A - It makes trade more complicated, as each person must have what the other
person wants, limiting the pool of potential trade partners.

34.

D - 1-i, 2-iii, 3-ii, 4-iv

35.

Healthcare and Public Health:

e Accessible and quality public healthcare, is fundamental for maintaining, a
productive and healthy population. It reduces mortality rates, ensures the well-
being of the workforce, and allows individuals to contribute meaningfully to the
economy. Inadequate healthcare can result in a higher burden of disease, lower
life expectancy, and economic inefficiencies.

Education and Skill Development:

e Public education systems are essential for providing equal learning opportunities
to all citizens, regardless of socioeconomic status. A well-educated population
leads to increased literacy rates, skill development, and innovation, all of which
are crucial for economic growth, reducing inequality, and fostering social
cohesion.

Sanitation and Clean Water:

e Proper sanitation and access to clean water are vital for maintaining public
health and preventing diseases such as cholera and dysentery. These services
significantly improve life expectancy, reduce healthcare costs, and increase
productivity, especially in rural or underserved areas.

Infrastructure Development:

e Public infrastructure, including roads, transportation, and energy, supports the
functioning of markets, businesses, and industries. It enhances connectivity,
stimulates economic activities, and improves the quality of life for individuals by
providing easy access to essential goods and services.

Or any other relevant point(s) - Any two

1%+
1%

36.

- Higher cost of borrowing from informal sources means a larger part of the earnings
of the borrowers is used to repay the loan. Hence, borrowers have less income left
for themselves (as we saw for Shyamal in Sonpur).

- In certain cases, the high interest rate for borrowing can mean that the amount to
be repaid is greater than the income of the borrower. -This could lead to increasing
debt (as we saw for Rama in Sonpur) and debt trap.

-Also, people who might wish to start an enterprise by borrowing may not do so
because of the high cost of borrowing.

-For these reasons, banks and cooperative societies need to lend more. This would
lead to higher incomes and many people could then borrow cheaply for a variety of
needs.

-They could grow crops, do business, set up small-scale industries etc. They could
set up new industries or trade in goods. Cheap and affordable credit is crucial for




the country’s development -Or any other relevant point(s) - Any 3

37. |1. the movements of goods and services,
2. information and communication technology
3. Transportation technology
4. movement of people between countries
5. Liberalisation of foreign trade and foreign investment policy
Any other relevant point (any 3 well explained)

38A. | Working conditions of person M would have the following features:
Regular Employment: Workers have assured, regular work with fixed terms of
employment.
Government Regulation: Enterprises are registered with the government and
follow legal rules and regulations (e.g., Factories Act, Minimum Wages Act).
Security of Employment: Workers enjoy job security with clear working hours and
benefits.
Overtime Compensation: If workers work beyond regular hours, they are paid
overtime.
Employee Benefits: Workers receive benefits like paid leave, holidays, provident
fund, gratuity, and medical benefits.
Safe Working Conditions: Employers are required to provide safe working
environments (e.g., clean drinking water).
Retirement Benefits: Workers are entitled to pensions after retirement.
Formal Processes: The sector follows formal processes and procedures for
employment.
Working conditions of person N would have the following features:
Irregular Employment: Jobs are low-paid and often irregular, with no guarantee of
continuous work.
Lack of Government Regulation: The sector operates largely outside government
control, with few or no legal protections.
No Employee Benefits: Workers do not receive benefits like paid leave, overtime
pay, or medical benefits.
Job Insecurity: Employment is not secure; workers can be dismissed without
notice or reason.
Seasonal Work: Employment is often dependent on seasons, and workers may be
laid off during off-peak periods.
Informal Jobs: Many workers are self-employed, doing small jobs like street
vending or repair work.
Dependence on Employer: Employment conditions are influenced by the
employer's whims and needs.
No Legal Protections: There is little enforcement of rules or regulations related
to working conditions or benefits.

OR
38B. | Privatization: Positive Effects-

1. Increased Efficiency and Productivity

10




2. Improved Quality of Services
3. Reduced Government Burden
4. Any other relevant point(s)

Privatization: Negative Effects-

Exclusion of Public Welfare - Profit being the only motive

Loss of Employment Security

Wide gap between rich and poor - due to inaccessibility of basic facilities
Lower government accountability

Any other relevant point(s)

agrwbE

(ANY 5 points to be accepted. However, at least 2 positive and 2 negative effects
must be included in the response)
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